UGC NET 2021 Commerce 25N Shift 1

Topic:- Commerce_25NSH1_SHAAN_NOV21A

1) Which is the most potent driver of business transformation during Covid — 19 pandemic?
(1) Ethical consciousness
(2) Scale economies and pricing power
(3) Technology adoption and innovation

(4) Supply chain logistics and government interventions
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[Question ID = 1411][Question Description = Q01_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5641]
2. 2 [Option ID = 5642]
3. 3 [Option ID = 5643]
4. 4 [Option ID = 5644]

Correct Answer :-
e 1 [Option ID = 5641]

2) Counter Vailing Duties (CVD) are often imposed on imports to offset the impact of
(1) Predatory pricing (2) Export subsidies
(3 Dumping (4) Low cost financing
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[Question ID = 1412][Question Description = Q02_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5645]
2. 2 [Option ID = 5646]
3. 3 [Option ID = 5647]
4. 4 [Option ID = 5648]

Correct Answer :-
e 1 [Option ID = 5645]

To prevent opportunistic takeover of domestic firms amid Covid — 19 pandemic. Foreign
Direct Investment (FDI) from countries that share borders with India is allowed through

(1) Automatic route (2) Government route

(3) FIPB route (4) DPIIT route
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[Question ID = 1413][Question Description = Q03_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5649]
2. 2 [Option ID = 5650]



3. 3 [Option ID = 5651]
4. 4 [Option ID = 5652]

Correct Answer :-
e 1 [Option ID = 5649]

Factor conditions in Michael Porter's competitive advantage of Nations include
(1) Market size (2) Demand conditions
(3) Internationally competitive suppliers (4) Skilled labour and scientific knowledge
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[Question ID = 1414][Question Description = Q04_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5653]
2. 2 [Option ID = 5654]
3. 3 [Option ID = 5655]
4. 4 [Option ID = 5656]

Correct Answer :-
e 1 [Option ID = 5653]

In casze the purchasing company agrees to act as the agent of the vendor for collection of the
book debts, in the books of the purchasing company, the amount of debtors should be

credited to
(1) Vendor's debtors account (2) Vendor's suspense account
(3) Debtors account (4) Creditors account
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[Question ID = 1415][Question Description = Q05_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5657]
2. 2 [Option ID = 5658]

3. 3 [Option ID = 5659]
4. 4 [Option ID = 5660]

Correct Answer :-
e 1 [Option ID = 5657]

When the value of “Investment in subsidiary” in the holding company’s balance sheet is more
than the book value of the net assets acquired. the difference represents

(1) Capital reserve on consolidation (2) Goodwill on consolidation

(3) Minority interest (4) Post acquisition profit
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[Question ID = 1416][Question Description = Q06_Commerce_25NS1_SHAAN_NOV21]

1. 1 [Option ID = 5661]
2. 2 [Option ID = 5662]



3. 3 [Option ID = 5663]
4. 4 [Option ID = 5664]

Correct Answer :-
e 1 [Option ID = 5661]

7
) The basic method of valuing human assets is
(1) Adjustment (2) Amortization
(3 Capitalization (49) Quasi equity
e TREET % godiea &I ga fafa w0 2
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[Question ID = 1417][Question Description = Q07_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5665]
2. 2 [Option ID = 5666]
3. 3 [Option ID = 5667]
4. 4 [Option ID = 5668]

Correct Answer :-
e 1 [Option ID = 5665]

8) X andY are partners, sharing profits and losses in the ratio of 4 : 3. They admit Z into the

partnership for %ﬂi share. X and Y decide to share future profits in the ratio of 2 : 1. What is
the sacrificing ratio of X and Y?

(1) 4:3 (2) 13:8

(3) §:13 4 4:17
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[Question ID = 1418][Question Description = Q08_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5669]
2. 2 [Option ID = 5670]
3. 3 [Option ID = 5671]
4. 4 [Option ID = 5672]

Correct Answer :-
e 1 [Option ID = 5669]

The value of the firm in wealth maximisation objective 1s measured by

(1) Present value of all expected future cash flows
(2) All expected future cash flows

(3) Present value of all expected future profits

(4) All expected future profits
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[Question ID = 1419][Question Description = Q09_Commerce_25NS1_SHAAN_NOV21]



1 [Option ID = 5673]
2 [Option ID = 5674]
3 [Option ID = 5675]
4 [Option ID = 5676]
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Correct Answer :-
e 1 [Option ID = 5673]

10 For a decline in price, total revenue declines if the demand of the product is
(1) Inelastic (2) Elastic
(3) Unitary elastic (4) Zero elastic
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[Question ID = 1420][Question Description = Q10_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5677]
2. 2 [Option ID = 5678]
3. 3 [Option ID = 5679]
4. 4 [Option ID = 5680]

Correct Answer :-
e 1 [Option ID = 5677]

L In Cobb — Douglas production function, @ = AK®L® increasing returns to scale occurs when
(1) atbh=1 (2) K+L=1
(3) a+b=1 (40 K+L<1
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[Question ID = 1421][Question Description = Q11_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5681]
2. 2 [Option ID = 5682]
3. 3 [Option ID = 5683]
4. 4 [Option ID = 5684]

Correct Answer :-
e 1 [Option ID = 5681]

12)  The extreme case of non—price competition in an Oligopoly 1s
(1) Formation of cartels (2) Interdependent decision — making
(3) Attaining economies of scale (4) Formation of duopoly
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[Question ID = 1422][Question Description = Q12_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5685]
2. 2 [Option ID = 5686]
3. 3 [Option ID = 5687]
4. 4 [Option ID = 5688]

Correct Answer :-
e 1 [Option ID = 5685]



13)

Pecking order theory in finance is based on the assertion of

(1) Asyvmmetric information between managers and investors
(2) Symmetric information between managers and investors
(3) Outside information

(4) Asymmetric information among investors only
fam & uf wrer foedt fr=ferfga Fom W a2 .
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[Question ID = 1423][Question Description = Q13_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5689]
2. 2 [Option ID = 5690]

3. 3 [Option ID = 5691]
4. 4 [Option ID = 5692]

Correct Answer :-
e 1 [Option ID = 5689]

If a project cost 1= T 40,000. Its stream of earning before depreciation and tax during first
vear through five years is expected to be ¥ 10,000, ¥ 12.000. ¥ 14.000., ¥ 16.000 and
¥ 20.000. Assume a 50% tax rate and depreciation on straight line basis; project’s ARR is

1)  14.40% @) 72%

(3) 16% @) 55.56%
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[Question ID = 1424][Question Description = Q14_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5693]
2. 2 [Option ID = 5694]
3. 3 [Option ID = 5695]
4. 4 [Option ID = 5696]

Correct Answer :-
e 1 [Option ID = 5693]

15 : B el = A
) According to the theory of dividend, the firm should follow its investment policy of accepting

all positive NPV projects and paying out dividends if and only if, funds are available:

(1) Bird in hand theory (2) Investor rationality theory
(3) 100 percent retention theory (4) Residual theory
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[Question ID = 1425][Question Description = Q15_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5697]
2. 2 [Option ID = 5698]
3. 3 [Option ID = 5699]
4. 4 [Option ID = 5700]

Correct Answer :-
e 1 [Option ID = 5697]

In Securitisation when no assets are acquired and the collateral is fixed for the life of the
asset, the type of a structure 1s called as

(1) Revolving structure (2) Amortized structure
(3 Collateralized structure (4) Self — liguidating strucutre
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[Question ID = 1426][Question Description = Q16_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5701]
2. 2 [Option ID = 5702]
3. 3 [Option ID = 5703]
4. 4 [Option ID = 5704]

Correct Answer :-
e 1 [Option ID = 5701]

17) For a very large sample size the ratio between SE; and o is 8: 40. Determine the sample
size n:
(1) 25 (2 &
(3) 4 (4 16
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[Question ID = 1427][Question Description = Q17_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5705]
2. 2 [Option ID = 5706]
3. 3 [Option ID = 5707]
4. 4 [Option ID = 5708]

Correct Answer :-
e 1 [Option ID = 5705]

For a given set of paired data. the correlation and regression coefficients have been
calculated as being equal to r, bxy and byx respectively. Now, each of the values of the x
series 1s divided by 5. What effect does it have on each of these co — efficients?

(1) The three co—efficients remain unchanged

(2) There is no change in r but by x changes to byx/5 and bxy changes to 5 bxy
(3) Each of the co—efficients will be reduced to one fourth of its value.

(4) There is no change in r but byx changes to 5byx and bxy changes to bxy/5
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[Question ID = 1428][Question Description = Q18_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5709]
2. 2 [Option ID = 5710]

3. 3 [Option ID = 5711]
4. 4 [Option ID = 5712]

Correct Answer :-
e 1 [Option ID = 5709]

19 ; : :
) Which of the following statement 1s correct?

(1) Co-efficient of variance = % x100

(2) If value in a series are negative, the standard deviation is also negative
(3) If value in a series multiplied by o . the variance would be multiplied by 36

(4) Standard deviation 1s equal to square of variance.
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[Question ID = 1429][Question Description = Q19_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5713]
2. 2 [Option ID = 5714]
3. 3 [Option ID = 5715]
4. 4 [Option ID = 5716]

Correct Answer :-
e 1 [Option ID = 5713]

20) Fora poisson distribution variable X, P(X = 0) = 2P(X = 1). its standard deviation would be:
m 2 @ 05
(3) ~0.5 4 2

ot ufema faamm &% =1 X & fou, P(X = 0) = 2P(X = 1), 71 g9 UHa fa=red gm
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[Question ID = 1430][Question Description = Q20_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5717]
2. 2 [Option ID = 5718]
3. 3 [Option ID = 5719]
4. 4 [Option ID = 5720]

Correct Answer :-

e 1 [Option ID = 5717]

21) . . . .
A test that contains a fair sample of the tasks and skills actually needed for the job 1n
question is:



(1) Construct validity (2)

Content validity
(3) Test validity

(4) Criterion validity
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[Question ID = 1431][Question Description = Q21_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5721]

2. 2 [Option ID = 5722]
3. 3 [Option ID = 5723]
4. 4 [Option ID = 5724]

Correct Answer :-

& 1 [Option ID = 5721]

22) . . . : e
Which among the following 18 not a primary determinant of orgamzational structure?
(1) Chain and span (2) Capacity and lower needs
(3) Power and control (4) Differentiation and integration
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[Question ID = 1432][Question Description = Q22_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5725]

2. 2 [Option ID = 5726]
3. 3 [Option ID = 5727]
4. 4 [Option ID = 5728]

Correct Answer :-
e 1 [Option ID = 5725]

23) An act in a way that results in the greatest good for the greatest number is:
(1) The golden rule (2) The utilitarian principle
(3) The four way test (4) Kant's categorical imperative

U dqfih H UH Fea bl witorfa waifues gen & foo watfas faa O 26 2
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[Question ID = 1433][Question Description = Q23_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5729]

2. 2 [Option ID = 5730]
3. 3 [Option ID = 5731]
4. 4 [Option ID = 5732]

Correct Answer :-
e 1 [Option ID = 5729]
24)

People repeat behaviours that bring them satisfaction and pleasure and stop those that bring
them dissatisfaction or pain 1s known as:

(1) Law of exercise (2) Law of redo

(3) Law of effect (4) Law of readiness

P UH SHFENl bl GR-9F Hd & o 3% ddie AN g9l UgF Hd 2 a1 UH SHER HE B8 dd 7,
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[Question ID = 1434][Question Description = Q24_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5733]
2. 2 [Option ID = 5734]
3. 3 [Option ID = 5735]
4. 4 [Option ID = 5736]

Correct Answer :-
e 1 [Option ID = 5733]

25 . . .
) Which one of the following statements is true about under the Basel I Accord. BCBS. fixed

the minimum requirement of capital fund for banks at ?
(1) 8 percent of the total risk weighted assets

(2) 9 percent of the total risk weighted assets

(3) 10 percent of the total risk weighted assets

(4) 1000 crore

frrfafiga 4 & ®H-a1 94 53 27 9896 1 Husid & siaid diEfsiog 3 dai 6 O ffa & =y
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[Question ID = 1435][Question Description = Q25_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5737]
2. 2 [Option ID = 5738]
3. 3 [Option ID = 5739]
4. 4 [Option ID = 5740]

Correct Answer :-
e 1 [Option ID = 5737]

26)  Which of the following statements is correct relating to Indian Financial System?
(1) RBI has direct supervision over depositoriess and mutual funds.
(2) Monetary control is exercized through cash reserve ratio and statutory liquidity ratio.

(3 Primary dealers mainly deal in shares, mutual fund units.

(4 The decrease in statutory liquidity ratio contracts the credit creation.
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[Question ID = 1436][Question Description = Q26_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5741]
2. 2 [Option ID = 5742]
3. 3 [Option ID = 5743]
4. 4 [Option ID = 5744]

Correct Answer :-
e 1 [Option ID = 5741]



27)
Which one of the following 1s not one of the advantages of Derivatives market?

(1) Leveraging increases risk
(2) They enhance liquidity in the market for underlying assets
(3) They represent a form of insurance against risks

(4) They reduce price volatility
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[Question ID = 1437][Question Description = Q27_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5745]
2. 2 [Option ID = 5746]
3. 3 [Option ID = 5747]
4. 4 [Option ID = 5748]

Correct Answer :-
e 1 [Option ID = 5745]

Which one of the following statements is not true about Indian Money Market?

(1) Non — Banking Finance Companies (NBFCs) are financial institutions that constitute
organised component of money market.

(2) Money market mutual funds are allowed to sell units to corporates and individuals.
(3) A Well — developed money market 1s essential for a modern economy.

(4 In the Indian Money Market, the predominant place 1s enjoyved by government and
semi — government securities.
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[Question ID = 1438][Question Description = Q28_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5749]
2. 2 [Option ID = 5750]
3. 3 [Option ID = 5751]
4. 4 [Option ID = 5752]

Correct Answer :-
e 1 [Option ID = 5749]

Which of the following 1s not true while determining length of distribution channel?

(1) The larger the market size. the longer the channel.
(2) If the average lot size is large. it is better to have a longer channel.

(3 If the product and the market require a high level of service, it is advisable to keep a
shorter channel.



(4) If customers shop for an assortment of products, 1t demands for a water channel of
distribution.
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[Question ID = 1439][Question Description = Q29_Commerce_25NS1_SHAAN_NOV21]

1. 1 [Option ID = 5753]

2. 2 [Option ID = 5754]

3. 3 [Option ID = 5755]

4. 4 [Option ID = 5756]

Correct Answer :-
e 1 [Option ID = 5753]

30)
Which of the following can be categorized as people processing services?
(1) Health care (2) Legal services
(3) Education (4) Transportation

570 § forerenl Sa-gz isrem Hansdi (fuge sfim afdem) § wiiea fen o v 27
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(3)  furam (4) vl

[Question ID = 1440][Question Description = Q30_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5757]
2. 2 [Option ID = 5758]
3. 3 [Option ID = 5759]
4. 4 [Option ID = 5760]

Correct Answer :-
e 1 [Option ID = 5757]

SBUs or products that have lost their position of leadership and are in the low growth
markets, are known as

(1) Star (2) Problem child

(3) Dog {(4) Cash cow

T uE i g @ Fere foean spard 6 s feafa @i € 2 st fre wafy e O 8, @2 9@ 2
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[Question ID = 1441][Question Description = Q31_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5761]
2. 2 [Option ID = 5762]
3. 3 [Option ID = 5763]
4. 4 [Option ID = 5764]

Correct Answer :-
e 1 [Option ID = 5761]

32)  Which of the following is not a valid basis for market segmentation?

(1) Customer Based Segmentation
(2) Technology Oriented Segmentation

(2 Comoetition Related Seomentation



(4) Product Related Segmentation
R @ & foro frefafeaa § $R-a1 99 sngw 34 22
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[Question ID = 1442][Question Description = Q32_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5765]
2. 2 [Option ID = 5766]

3. 3 [Option ID = 5767]
4. 4 [Option ID = 5768]

Correct Answer :-
e 1 [Option ID = 5765]

33) Which one of the following statements is a promissory note?
(1) I promise to pay @ Rs.7.000, 7 days after my marriage.
(2) On demand. I promise to pay B or bearer Rs. 5.000

(3) I promise to pay Rs. 5.000 on C's death provided C leaves with me enough money to
pay that sum.

(4) I acknowledge to be indebted to you for Rs. 10,000 to be paid on demand for value
received.

fraferfiga 0 5 w1-m *2a v ylaemeE 2 .
(1) o 3 ez % 7 feFi & @e Q Fi 7,000 T & WAH HH 1 a9 ol 7
(2)  Hum fFd SH W B AYE1 9FF i 5,000 ¥4 F WPAH FH &I 999 <A A
(3) H C %I g W 5,000 ¥ F YWIAH 1 H1 9= <l & 991 b C UL TH 39 LI H1 PTaH
T g U gafe S S 2
(4)  H 3myeh wfd 10,000 w93 1 Fofl #n wdiwn v & fm ma g % foro i s wosie e
Eiea
[Question ID = 1443][Question Description = Q33_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5769]
2. 2 [Option ID = 5770]

3. 3 [Option ID = 5771]
4. 4 [Option ID = 5772]

Correct Answer :-
e 1 [Option ID = 5769]

A claim for ‘quantum meruit’ cannot succeed:

(1) When a divisible contract is partly performed.

(2) When an indivisible contract for a lumpsum is partly performed.
(3) When a contract is discovered to be unenforceable due to some technical defect.
(4) In the case of breach of contract, the aggrieved party can claim reasonable

compensation for what he has done under the contract.

‘Feren e’ F1 <E A A2 81 Hehdl B

(1) o e faursy \fae 3ivm: Foarfea & amdi 2|

(2) e forl vergya wnty & sifaursa wfaer siw@: Fonfea 26 2)

(3) w4 T wfagr +i wfaw dae-ih 2 6 92 | 3 0] FH F0E TR A 2



(4)  Hfge Ieeiad & wHe H, Fifed 9ar wiae & FATER dhETa YHES & g F dhdl 2

[Question ID = 1444][Question Description = Q34_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5773]
2. 2 [Option ID = 5774]
3. 3 [Option ID = 5775]
4. 4 [Option ID = 5776]

Correct Answer :-
e 1 [Option ID = 5773]

The first offence for infringement of copyright can be for a maximum of imprisonment for a
term of

(1) 6 month and a fine of Rs. 20,000
(2) 3 years and a fine of Rs. 50,000
(3) 3 years and a fine of Rs. 2.00,000
(4) 1 year and a fine of Rs. 3.00,000

HIHIEe Jecder o TEcl A9 2 HREE &l w1 sAferemday safy 2

(1) 6 W&EHT 31 20,000 ¥98 %1 319 €2
(2) 3 @9 37 50,000 ¥92 1 314 g8
(3) 3 ad 3" 2.00,000 %74 F1 7 €2
(4) | 7 371 3.00.000 7% %1 374 €2
[Question ID = 1445][Question Description = Q35_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5777]
2. 2 [Option ID = 5778]
3. 3 [Option ID = 5779]

4. 4 [Option ID = 5780]

Correct Answer :-
e 1 [Option ID = 5777]

36) Which one of the following conditions does not constitute a valid agency by necessity?

(1) There should have been actual and definite commercial necessity for the agent to act
promptly.

(2) The agent should have acted bonafide and for the benefit of the principal.

(3) The agent should have adopted the most reasonable and practicable course under the
circumstances.
(4) Destruction of the subject matter of the contract of agency.

freaferfiga 1 4 wH- 94 srEvEFaER S du-uiE 34 w9di e
(1)  Uslve gR1 dedl Yoeh & fmu TH & fore awafaes s Hfvaa arfofsas smavasa 2 =iz
(2)  USVE &l A H R 3 =l (THIE) % oY 7 S i JiE
(3)  wsvz & uitfeafai & siafa gaifes qdhama i sraafie @l sroEE =ifE)
@) A & wiae 6 favgasd w1 T g T
[Question ID = 1446][Question Description = Q36_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5781]
2. 2 [Option ID = 5782]
3. 3 [Option ID = 5783]
4. 4 [Option ID = 5784]

Correct Answer :-
e 1 [Option ID = 5781]



37 . . . . . . .
) If assesssee 1s engaged in the business of growing and manufacturing tea in India. the
non-agricultural income in that case be:

(1) 40% the income from such business
(2) 25% the income from such business
(3) 60% the Income from such business
(4) 75% the income from such business

afe Feifedl wra § =g &) Tean 3R Iergd % SHadrE 1 o 2, A 39 o 5 T s e 2efl v

(1) U4 sqga™ ¥ 3% &1 40 dfdaer
(2)  UH SHEEE H 3 H 25 YideE
(3)  UH =HaEmE | A % 60 favd
(4) U sggOm O 379 F 75 gfderd

[Question ID = 1447][Question Description = Q37_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5785]
2. 2 [Option ID = 5786]
3. 3 [Option ID = 5787]
4. 4 [Option ID = 5788]

Correct Answer :-
e 1 [Option ID = 5785]

38
) AMT provisions are applicable on:
(1) Corporate assessee (2) Non Corporate assessee
(3) HUF (49 An Individual

v wq F yrEuE Sr A 2

(1)  Fruiez +T fuifeed o (2) T Fnaie w1 i o
(3) TEITEW (4) fodt safdq w

[Question ID = 1448][Question Description = Q38_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5789]
2. 2 [Option ID = 5790]
3. 3 [Option ID = 5791]
4. 4 [Option ID = 5792]

Correct Answer :-
e 1 [Option ID = 5789]

39) X, an employee of the private company. gets Rs.30.000 p.m. basic salary and entitled to

Rs.1.500 p.m. as entertainment allowance. What are the deductions u/s 16(i1) from gross
salary in respect of entertainment allowance?

(1)  Rs.5.000 (2) Rs.18,000
(3)  Rs.72.000 @ Nil

st shofi & veh =l X %1 30,000 #9u ufd uTE gt o fuean @ s oHEeH 99 % w9 1 1,500
®qu yfd H1E %1 FHaH &1 BARS WA o H99 H &l dad d 971 16(i) & sAaid feai il 20 7

(1)  5.000 ¥7U (2) 18.000 %9U
(3)  72.000 ®qU @ =

[Question ID = 1449][Question Description = Q39_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5793]
2. 2 [Option ID = 5794]
3. 3 [Option ID = 5795]
4. 4 [Option ID = 5796]

Correct Answer :-
e 1 [Option ID = 5793]



40) . : . . : B
Which of the following provident fund 18 approved by the provident fund commissioner?

(1) Statutory provident fund (2) Recognised provident fund
(3) Unrecognised provident fund (4) Public provident fund

wfesy fafl srger g Fafofiaa § 3 SR-d wfas ffa @1 s T s 22

(1) aifefees ufass iy (2) =r=ar g dfass f4fy
(3) = g ufasy ffy (4) @ ufasy ffy

[Question ID = 1450][Question Description = Q40_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5797]
2. 2 [Option ID = 5798]
3. 3 [Option ID = 5799]
4. 4 [Option ID = 5800]

Correct Answer :-
e 1 [Option ID = 5797]

Which of the following institutions are included in the ‘World Bank Group™

(A) International Finance Corporation

(B) International Monetary Fund

(C) World Trade Organization

(D) Multilateral Investment Guarantee Agency

(E) International Development Association

Choose the correct answer from the options given below :
(1) A, B and C only

(2) A B and D only

(3) A.B.D and E only

(4) A.D and E only

FrAferfiga o slA-di geani ‘g o% wge o Afeiad 27
(A)  Faursdrg fas fem

(B)  HAEIEA HE H

(C) fova samym =g

(D)  wedielere g=helie T v

(E)  siauredg fawm 94

Hi feu u foeredi O | |E I &1 F74 Fifau
(1) %aa A.B3ilt C

(2) Haa A.B3t D

(3) %ad@ A, B, D3 E

(4) Had A, D IR E

[Question ID = 1451][Question Description = Q41_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5801]
2. 2 [Option ID = 5802]
3. 3 [Option ID = 5803]
4. 4 [Option ID = 5804]

Correct Answer :-
e 1 [Option ID = 5801]

42 : s B, e . : E
) Corporate social responsibility 15 the continuing commitment by business to behave ethically

and contribute to

(A) Political awareness, social security and inclusion

(B) Public health. education and literacy



(C) Maintaining ecological balances and protecting environment
(D) Gender diversity, profiteering and market controlling
(E) Rendering. Sponsoring and donating to social and charitable activities

Choose the correct answer from the options given below :

(1) A, Band D only
(2) B. C and E only
(3) C.D and E only
(4) A.Band Conly

e JWITae I & aed 2 e sggen we 3 Fafafes 9 9rem +9 i saaE F
Hod ufdegdn

(A)  Trafifas SerEwd, wifae g @i aaEeE

(B) ok amza, foen i memd

(C)  wftfefaeht Aqeri 1 970 TEHT 3R TaTa Sl e H

(D)  fom fafasa, garengdl s aram e

(E) amifas a g forampemy s, grEifad s w39 fon gr &

dr= few o faeeqi § 9 9 I @ =99 difau

(1) 9 A B3R D

(2) %ad B.C 3l E
(3) %9d C.D 3N E
(4) %99 A, B3 C
[Question ID = 1452][Question Description = Q42_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5805]
2. 2 [Option ID = 5806]
3. 3 [Option ID = 5807]
4. 4 [Option ID = 5808]
Correct Answer :-

e 1 [Option ID = 5805]

43) . Firm characteristics that help managers identify core compentencies include :

(A) Potential access to wide variety of markets
(B) Significantly contribute to the perceived customer benefits
(C) Value accretive and non competitive

(D)  Distinctive and difficult for competitors to imitate

Choose the most appropriate answer from the options given below:

(1) A. B and C only
(2) B. C and D only
(3) A. B and D only

(4) A. CandD only

yfar & fom sifisemi & vaus ga saaaisii 6 dmwm s 8, 30 efafaa afmfaq 2

(A)  fafay yen & 9l @6 G914 J54



(B) WEH & Wdld FH 9l @il H Haedqul FETEH Al
(C) Hea-fvads 3R H-gfaarh
(D)  Fafore s wfafr & fou s @ 4 i

Hra fgu o foeredi 0 | wad I9gE I &1 95 Hifa
(1) ad A B3l C
(2) %Hgd B.C3Mm D
(3) S9d A.B3RD
(4) 9d A.C3H D

[Question ID = 1453][Question Description = Q43_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5809]
2. 2 [Option ID = 5810]
3. 3 [Option ID = 5811]
4. 4 [Option ID = 5812]

Correct Answer :-
e 1 [Option ID = 5809]

Which of the following distinction(s) is/are not correct between public issue and rights issue?
(A) In public issue, applications for shares are invited from the general public and in
rights issue, the shares are offered to existing shareholders.

(B) In public issue there is no question of any over-subscription and in rights issue the
shares may be under subscribed or over subscribed leading to prorata allotment.

(C) The price of public 1ssue 1s generally less than the market price and in rights issue,
the price is deliberately made less than the market price.

(D) In a public issue, the communication of the 1ssue 1s through prospects or
advertisements and in rights issue the communication is between the company and
the existing members of the company.

Choose the most appropriate answer from the options given below :
(1) B only

(2) D only

(3) A and C only

(4) C and D only

HrEaAE fria 3 sfusn e & &m ofahed O 3 99 9@ 359 838 38 21

(A)  HEAHE A § S % fofo sided W AR 8 5P STd 2@ o7 sifaser TR 0 s b

(B)  HrdHAfe frfga 4 sreafies & S8 gara 98 21 3 sifuen fefra § 9 @ s sifies @
st sifign fern = meban 2 formd aumaTd sifaea 2m 2

(C) HEwH® FFig $1 Fma qmea: a9R fima 3 #9 2d 2 3R dfusn e d $ma =
SAGHEL AT hied # &0 6l AT 2

(D) w\EwHE a1 aswer fae g = fasmi % mem 9 @ 2 i s fein
1 gy ol 3 i & diee deEi & d" g 2

44 fau 1o fasedi O | ga8 I9ga I &1 954 Fifav .

(1) 94 B

(2) HEAD

(3) wad A 3R C

(4 Hdd C 3R D



[Question ID = 1454][Question Description = Q44_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5813]
2. 2 [Option ID = 5814]
3. 3 [Option ID = 5815]
4. 4 [Option ID = 5816]

Correct Answer :-
e 1 [Option ID = 5813]

According to AS-2, which of the following costs should be included in valuing the inventories
of a manufacturing company?

(A) Freight and insurance
(B) Carriage outwards
(C) Depreciation of factory plant

(D) General administrative overheads

Choose the most appropriate answer from the options given below :

(1) A and D only
(2) A Band D only
(3) B and C only
(4) A and C only

U UH-2 F FEE AEA FE G B F R & geathd ° Aeieiga 3 d T Sl w0 e e
ST =TT

(A)  wrsT S

(B)  HioiAE® =T

(C)  FFEE! 99 T G

(D) = TIEEE 39

Hr= fou o famedl § @ HeE Suged S 1 94 i

(1) “asd A =R D

(2) HFEAA B3TD

(3) FaA B R C

(4)  FEE A 3 C

[Question ID = 1455][Question Description = Q45_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5817]

2. 2 [Option ID = 5818]

3. 3 [Option ID = 5819]

4. 4 [Option ID = 5820]

Correct Answer :-
e 1 [Option ID = 5817]

Which of the following rules stands true while preparing schedule of changes in working
capital?

(A) An Increase in current assets Increases working capital

(B) An increase in current assets decreases working capital

(C) An increase in current liabilities decreases working capital

(D)  An increase in current liabilities increases working capital

Choose the most appropriate answer from the options given below :

Y & sl ol



N=F b e g g o A

(2) A and D only
(3) B and D only
(4) A, Band C only

frefefga o @ wia-u fram wesfer g 4 fmdar $i g dan #6 % gag 9 @91 27
(&) = mE A gty @ w2 )

®) = wE § Aty @ w2

(C) = sl § Jig BH | e gui g2 2

(D) = Fas F Aty 2R B e o a2

r

Fr= Tou U famedl | @ HeE SUgEE S 6 9 A
(1) === A 3k C

(2) FEHAHFEND

(3) =ae B @D

(4) Faa A BFERC

[Question ID = 1456][Question Description = Q46_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5821]

2. 2 [Option ID = 5822]

3. 3 [Option ID = 5823]

4. 4 [Option ID = 5824]

Correct Answer :-

& 1 [Option ID = 5821]

Characteristics constituting the core of consumers rationality includes:

(A) Homogeneous expectations
(B) Non — satiation

(C) Selfish motive

(D) Clarity of preferences

(E) Possession of information

Choose the correct answer from the options given below :

(1) A, B and C only
(2) B. C and D only
(3) A.B.Cand D only
(4) B. C. D and E only

UM 1 gl difdheal & el § sifire 2 2
(A)  HYEY IeHTIH

B)

() T -yfa wareE

(D) g & ere

(B)  gun wafue

= fou o fawredi § A W& I 1 FEH A



(1)  “aet A, B3t C
(2)  %4ae B, C 3l D
(3) %9 A.B,C3N D
(4 %9@ B,C.D 3 E
[Question ID = 1457][Question Description = Q47_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5825]
2. 2 [Option ID = 5826]
3. 3 [Option ID = 5827]
4. 4 [Option ID = 5828]
Correct Answer :-

e 1 [Option ID = 5825]

48) Why is an indifference curve convex to the origin?

(A) Indifference curve slope downward to the right
(B) Two commodities are imprefect substitutes
(C) Declining marginal rate of substitution between commodities

(D) Diminishing marginal utilities

Choose the most appropriate answer from the options given below :

(1) A and B only
(2) B and C only
(3) C and D only
(4) A and D only

U SR 9% W9 gl § Ieael #41 A 27

(A)  IHfaE @ gfeorfeen 4 i H 3 g 2 2
(B) @l S 30 SfeHe— &

(C)  a=3l & <9 i 6 sraam HivmE &

(D)  BHEYE HHE 9FifarE

4 fau o fgshedi 4 | HaH IE IW F1 9U4 AU
(1) %dad A3 B
(2) %Fdad B3 C
(3) 9d C 3 D
(4 %gd A3 D
[Question ID = 1458][Question Description = Q48_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5829]
2. 2 [Option ID = 5830]
3. 3 [Option ID = 5831]
4. 4 [Option ID = 5832]
Correct Answer :-

e 1 [Option ID = 5829]

Finanecial crises takes the form of

(A) Currency crisis
(B) Banking crisis

(C) Systematic financial crisis



(D) Foreign debt crisis

Choose the correct answer from the options given below :

(1) A B, Conly
(2) A B, Donly
(3) B. C. D only
(4) A B. C, Donly

ferefra wame Fafefey =9 & 2 .
(A) g1 HH
(B)  dfb Hawe

(C)  =adfed fasia e

(D) faqufi w1 Hae

dr feu o foeredl H | HeH ITgF IH &1 I HIfA0
(1) a9 A.B. C
(2) %99 A.B.D
(33 @#a@ B, C.D

(4) %9e A, B, C.D

[Question ID = 1459][Question Description = Q49_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5833]
2. 2 [Option ID = 5834]
3. 3 [Option ID = 5835]
4. 4 [Option ID = 5836]

Correct Answer :-
e 1 [Option ID = 5833]

20) Following are the problems that mar an optimal international diversification:
(A) Unfavourable exchange rate movements
(B) Frictions in international markets

(C) Manipulation of security prices

(D)  Unequal access to information

Choose the most appropriate answer from the options given below :
(1) A. B, Conly

(2) B. C., Donly

(3) A, C.Donly

(4) A, B. C,Donly

goeay saurdTy fafasdiamr & famea arefi aend Fofofiaa 2 .

A fafm @ 1 yfasa sar-=eE
(B)  HAEISEH araR 4w
(C)  wfeyfa el 4 2

(D)  H=I A% SEHE 984



19 fau wu fasredi § @ el 3uysd 390 &1 994 Fifau .
(1) %dad A.B. C
(2) a4 B, C,D
(3) Ha@ A, C.D
(49 $99 A.B.C.D
[Question ID = 1460][Question Description = Q50_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5837]
2. 2 [Option ID = 5838]
3. 3 [Option ID = 5839]
4. 4 [Option ID = 5840]
Correct Answer :-

e 1 [Option ID = 5837]

Which of the following statement is correct about Mann — Whitney U — test?

(A) It 13 non parametric test
(B) It requires that samples are independent
(C) It can be used when populations involved are normally distributed

(D) It 1= used to test the null hypothesis that the two populations are involved are
identical.

(E) It is always a two tailed test.

Choose the correct answer from the options given below :

(1) A B.Donly
(2) A C,Donly
(3) A.D.Eonly
(4) A, B. E only
- 9-wiEm % favm § FefetEd § |3 SA-T w5 2
(A) I -uEes wiEm 2|
(B) =5 fou oTaves 2 % ufagst wa7 =
(C) @ Ao SETEAT, | EAE B, @ SH A R A A 2
(D) = WA 30 I TR & WEW F o = e 7 afted 51 Seee a6e 2|

(E) == =aen fgr=ae wiiem 3

f= fou T et 9 3 T IugEa S A =9 I
(1) ZFaF A B.D
(2) HaAA.C.D
(3) =#=aA AD.E
(4 Faw A B E
[Question ID = 1461][Question Description = Q51_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5841]
2. 2 [Option ID = 5842]
3. 3 [Option ID = 5843]
4. 4 [Option ID = 5844]

Correct Answer :-
e 1 [Option ID = 5841]



Which of the following are correct about complementary events?

(A) Mutually exclusive
(B) Independent
(C) Such that their probabilities add up to 1.

(D) Collective exhaustive.

Choose the most appropriate answer from the options given below :

(1) A. B, Conly
(2) A B.Donly
(3) BE. C. D only
(4) A C.Donly

ek "3 o fava d foafrfiaa 4 @ -9 w3 27
(A) TR =EdS

B A

(C) U fop 39t wifdrsenii =1 2w 1 2

(D)  HmfES 9 H 70 &

Fr fou o fogeredl 0 | HaH I9gE IH F1 5 HifA
(1) <ada A.B.C
(2) <ad A.B.D
(3) %94 B, C.D

(40 &9d A.C,D

[Question ID = 1462][Question Description = Q52_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5845]
2. 2 [Option ID = 5846]
3. 3 [Option ID = 5847]
4. 4 [Option ID = 5848]

Correct Answer :-
e 1 [Option ID = 5845]

Which of the following statements are correct about Chi — Square test?
(A) The only parameter of a Chi — Square distribution is its number of degrees of
freedom.

(B) The null hypothesis in given Chi — Square test is rejected when calculated value of
variable exceed its critical value.

(C) The rejection region In a goodness of fit test lies only in the right tail of the
distribution.
(D)  The Chi— Square test is a parametric test.

(E) At a@=.05 and V =1 the critical value of »” is equal to Z — value at the same level of
significance.
Choose the most appropriate answer from the options given below :

(1) B. D. E only
(2) A, C, Eonly



(3) A.B.Conly
(4  B.C.D only

freferfiga 1 # @H-3 ¥4 Chi @ gia & af 0 54 27

(A) 1S (Chi) T faauor o1 UHnrs rerel Ta=aa1 il gEnsh & Jen 2|

(B)  fgu 70 & (Chi) ¥aa wiem) § 9= Sahea-] &1 3EHr o g o 2 9 =% %1 9 356
Fifas OF H 3Afash g

(C) e siw-fhe wew 1 spefiem &m faam & glem-g=s 1 6 = 2

(D)  Chi T4t yfiem v yr=fess gz 8)

(E) @=-05 3N V=1% 9F W Hdadl & d9H &1 W y> &1 Hifds U= Z 9H & 591 24l 2

i< feu v faeredl 0 8 wed I9gF I &1 924 Hifaw
() %9 B.D.E
(2) #ad A.C.E
(3) wadA A B, C
(40 %94 B.C.D
[Question ID = 1463][Question Description = Q53_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5849]
2. 2 [Option ID = 5850]
3. 3 [Option ID = 5851]
4. 4 [Option ID = 5852]
Correct Answer :-

e 1 [Option ID = 5849]

The principles of management have the following distinct features:

(A) Flexibility
(B) Universal application
(C) Principles are relative. not absolute

(D)  Based on situation.

Choose the most appropriate answer from the options given below :

(1) A.Bonly
(2)  B.Conly
(3) A.C.Donly
(49 A B.CD

et % frgri ) Freferfiga sye fsivard 3 -
(A) o=

(B) W ST

(C) Tagm @me g &, Froe T

(D)  uftfeufa o anufra

F= fou o fgeredi 4 | Had I9gF IH F1 FFH Hifa
(1) ad A 3R B
(2) WA BHARC
(3) HFAA C3IRD



(4) Had A, B, C3HRD
[Question ID = 1464][Question Description = Q54_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5853]
2. 2 [Option ID = 5854]
3. 3 [Option ID = 5855]
4. 4 [Option ID = 5856]

Correct Answer :-
e 1 [Option ID = 5853]

Use of interviews as a training needs assessment technique has the following advantages:

(A) Questions can be modified
(B) Easy to analyze
(C) Can explore unanticipated 1ssues that come up

(D) Less time consuming

Choose the most appropriate answer from the options given below :

() A Bonly
(2) B. C only
(3) A, Conly
(4) B. C. D only

TTHTE AETIFATAT & AT el & =9 H HETCRE % I9Er 9 HetenEd o A 7 o

(A) Tl H gur R S w A

(B) fTawemww %= 5 sEE

(C) A 3H =Tt STYAEATAS (997 1 S99 F ThaT 2|

(D) =HH %8 999 o A

= fgu o faeal 5 O Ae I9Ed ST = i
(1) == A 3t B
(2)  aw B R C
(3) FEHAFC
(4) #a9 B.C 3t D
[Question ID = 1465][Question Description = Q55_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5857]
2. 2 [Option ID = 5858]
3. 3 [Option ID = 5859]
4. 4 [Option ID = 5860]
Correct Answer :-

e 1 [Option ID = 5857]

The advantages of incentive payments are

(A) Ease in the introduction of new machines
(B) Better utilization of equipment
(C) Reduced absenteelsm and turnover

(D) Increased scrap

Choose the most appropriate answer from the options given below :



(1), A Bonly
(2) B.Conly
(3) B.C.Donly
4 A B.Conly

YTeHTEA WA o F1-1 o9 2 :
(A) 7 "HI FI FIE H Hian
(B)  I9HT F| dEA TN

(C) st 3R smafd d w6
(D)  waEhre § dafg

+fie fou o faaredi O & wad 39y I %1 954 Fifaw
(1) F9 A.B
(2) $9d B.C
(33 %9d B.C,D
(4) %=d A.B,C
[Question ID = 1466][Question Description = Q56_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5861]
2. 2 [Option ID = 5862]
3. 3 [Option ID = 5863]
4. 4 [Option ID = 5864]
Correct Answer :-

e 1 [Option ID = 5861]

Which of the following forms may not result in credit risk?

(A) Principle and/or interest amount may not be repaid in the case of direct lending.

(B) In case of guarantees or letter of credit, fund may not be forth coming from the
constituents upon crystallisation of the liability.

(C) Funds/Securities settlement may not be effected. in case of securities trading
business.

(D)  Provide information for determining adequacy of loan loss provision.

Choose the correct answer from the options given below :

(1) A, B and C only
(2) A, Cand D only
(3) B and C only
(4) D only

freafarfiga # 4 foa =9 @ v Sifaw &4 F quren 38 27

(A)  UcHe 34N o HHel H gAUH 391 /30 &4 & e A fen 2

(B) WA W AFE-9F % el H <udn & S weoaeswi ® fify 9 w19 et 2
(C)  wiavfd sarR sHadm™ & greel ¥ i /afayfaei &1 feer 3 30 20

D) = B wEEE i vt Faifa #3 % o gEa em e

I few o faweqi 4 @ 981 3 = 999 Fifso




(1) ad A.B3C
(2) %ad A, C 3D
(3) gd B3t C

(4 HE4 D

[Question ID = 1467][Question Description = Q57_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5865]
2. 2 [Option ID = 5866]
3. 3 [Option ID = 5867]
4. 4 [Option ID = 5868]

Correct Answer :-
e 1 [Option ID = 5865]

Which of the following statements are false regarding electronic purse? Indicate the correct
code.

(A) Retinal pattern verification
(B) Visual recognition
(C) No rizk of bad payvment

(D)  Method of accepting payments with no cash float to manage and no risk of theft.

Choose the correct answer from the options given below :

(1) A, B and C only
(2) B. C and D only
(3) A and B only
(4) C and D only

ezt % w A Rt § A w3 e s £1 @ s -t w0

—

feuzef sisE=A1 Team

@& T
(B) T¥HU9ETH
(C)  wTm YaW =i #iE =gy T2

(D) T3 T F e U A i = i e F e e =i w1 A

i 50 T R 3 H HE I = HIEn

(1) Has1 A, B3R C
(2)  @a= B.C#RD
(3) HaAAIEB
(4) wEE C3D
[Question ID = 1468][Question Description = Q58_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5869]
2. 2 [Option ID = 5870]
3. 3 [Option ID = 5871]
4. 4 [Option ID = 5872]
Correct Answer :-

e 1 [Option ID = 5869]

Which of the following statements are the defects of Indian Money Market?

(A) Profitable Investment



(B) Dichotomy in Indian Money Market
(C) Financing Industry

(D)  Diversity in interest rates

Choose the correct answer from the options given below :

(1) A, B and C only
(2) B and C only
(3) A, B and D only
(4) B and D only

foraferfaa o & ®H-8 Fo e ga1 arem 6 sheat 87
(A) ey e

(B) Wi gz1 "1 ° i

(C)  F&M i fad wgM %

(D) =ra g o fafaa

44 feu o faredi 0 4 |8 I &1 994 Fifau

(1) et A, B3t C
(2)  had B3 C
(3)  %dgdl A, B3 D
(4) FFd B3 D
[Question ID = 1469][Question Description = Q59_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5873]
2. 2 [Option ID = 5874]
3. 3 [Option ID = 5875]
4. 4 [Option ID = 5876]
Correct Answer :-

e 1 [Option ID = 5873]

Penetration pricing strategy delivers results:

(A) Where price gquality assoclation is weak
(B) When the product 1s perceived as a ‘high technology’ product
(C) When the market is characterised by intensive competition

(D)  When the firm uses it as an entry strategy

Choose the most appropriate answer from the options given below :
(1) B. C only

(2) A, Donly

(3) A, C, D only

(4) A, B. C only

ATANEE God -~ R giomeerEs g 2
(A) & geF %1 UEE H FAAN a9 gl 2l
(B) 9 IM9E HI I= THIATA Al IE <k Y G <@ A4l 2

(C) o= aran =1 Afmam wgm wlaifirar 2 21



(D) ¥4 uldssH wae Wi & B9 1 gHE I w1 2

i feu o faered] O 4 we 39gad I 1 924 HIf
(1) $ae B.C
(2) Had AD
(3) %9 A.C.D
(4) %99 A.B,C
[Question ID = 1470][Question Description = Q60_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5877]
2. 2 [Option ID = 5878]
3. 3 [Option ID = 5879]

4. 4 [Option ID = 5880]

Correct Answer :-
e 1 [Option ID = 5877]

61 : ; S &%
) Which of the following represents traditional logistics management approach?

(A) Independent inventory management efforts
(B) Minimise firm costs
(C)  Amount of information sharing and monitoring limited to current processes

(D) Small breadth of supplier base to increase coordination

Choose the correct answer from the options given below :
(1) A.Bonly

(2) B. C only

(3) A C.Donly

(4) B. C. D only

S | I WEREE d YA TR ] T il 27
(A) =3 =Y YEEd 99
(B)  wfdsar @l SRl i AT FAT

(C)  adum Wisha1sT H Ja137 &1 |ien & F1 4 vd b e
(D)  wo=a4 @1 afg & foo smyfdendisn i Hifea s

= fou o fyeredi 0 9 wgad 39ga I %1 954 Fifaw
(1) @%@ A B

(2) $9a B.C

(3) #99A.C.D

(4 %94 B.C.D

[Question ID = 1471][Question Description = Q61_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5881]
2. 2 [Option ID = 5882]
3. 3 [Option ID = 5883]
4. 4 [Option ID = 5884]

Correct Answer :-
e 1 [Option ID = 5881]

62)
Which of the following statements are false? Indicate the correct code.



(A) No company has to file any prescribed declaration before commencement of business.

(B) A company can ratify the contract entered into by the promoters with third parties on

behalf of the company before its formation.

(C) The date mentioned in the certificate for commencement of business 1s taken as the

date of birth of a public company.

(D) A private company has to file a “Settlement in lieu of prospectus” with the registrar.

Choose the correct answer from the options given below :

(1) A, B and D only
(2) A and B only
(3) B. C and D only
(4) C and D only

freferfaa # @ =9 & F9A oA 27 T8 FIs grad w9
(A) Tl i w1 TEEE T S T w0 fated avon ot 98 w2 2

(B)  FH A9 T T O TAAH gRT FOHT 1 AR T A 9a F @y 0 gl A w5 awd
=Y
2l

(C) =MW @AWY £H % UHY 99 § Seciigd 1419 9fec® FO H1 900 iy g Sl 2

(D) Tsht et =1 ““wfareror i e wmeien o ww giEe e e 2

1 7o U R | " =R 3R R = i

(1) #as A. B3l D
(2) Fa9 ARB
(3) as B.C 3D
(4) #EE C3RD

[Question ID = 1472][Question Description = Q62_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5885]

2. 2 [Option ID = 5886]

3. 3 [Option ID = 5887]

4. 4 [Option ID = 5888]

Correct Answer :-

e 1 [Option ID = 5885]

Which of the following are not the objectives of competition act, 20027

(A) Ensure freedom of trade for other participants in incidental and connected markets.
(B) Provide a reasonable level of reliability and connect operation.
(C) Adhere to generally accepted security procedures.

(D) Protect the interests of consumers.

Choose the correct answer from the options given below :

(1) A C,Donly
(2) B. C, D only
(3) A, Conly
(4 B. C only

Errarbafioa o O e v arErErrm 9onne S gy = S



LI AR ey s g Kt P S L i AN et e gk funke s B B o - ol g6 b N 0 (LA R e s SRR By 7oy e N LG ]

(&) 3= ufawfied & fere sl 9 gefua arani O s s gifgsa e
(B) i favasdaa yg@ s 9 y=Eed drEa
(C)  |M= &9 § w=iha Hea Tafad #1 e
(D) 3ol faei 1 Hrap
= few wu fameqi § 9 gl I &1 =99 difa
(1) dd A, C3RD
(2) ee B.C 31D
(3) gd A.C
(40 %ad B.C
[Question ID = 1473][Question Description = Q63_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5889]
2. 2 [Option ID = 5890]
3. 3 [Option ID = 5891]
4. 4 [Option ID = 5892]
Correct Answer :-

e 1 [Option ID = 5889]

Which of the following persons cannot use ITR — 4?

(A) Who 1s director of a company

(B) Who has held any unlisted equity shares

(C) Who has any asset located outside India

(D) A firm (other than LLP) if assessee 1z a Resident

(E) Who has income from other sources

Choose the most appropriate answer from the options given below :

(1) A, B, Conly
(2) A B.Donly
(3) B. D. E only
(4) C.D. Eonly

frferfiaa o & F19-m safaq 318 A =m-4 &1 yam T2 &1 Hehal 27

(&) g e R

(B) Toms um argetag sfead I 2)

(C)  fams um wma % arer fiorm 618 wfemmyfy 2)

(D) 1 %A (usd vt 9 % afdfien) gfe wfsifed famd 2

(B)  Tom & o 3= =@l 8 37 8

el few e faeredi 8 & @l 3w 1 = dif
(1) %a A.B.C
(2) %99 A.B.D
(3 9@ B.D.E

(4) %9 C.D.E



[Question ID = 1474][Question Description = Q64_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5893]

2. 2 [Option ID = 5894]

3. 3 [Option ID = 5895]

4. 4 [Option ID = 5896]

Correct Answer :-

e 1 [Option ID = 5893]

Which of the following losses are not deductible from business income?

(A) Losz sustained before the business is commenced.

(B) Loszess incurred in the closing down of the business.

(C) Loss incurred due to damage. destruction, etc., of capital assets.
(D) Loss of raw material and finished goods in transit.

(E) Loss of stock — in — trade due to enemy action.

Choose the correct answer from the options given below :

(1) A. B, Conly
(2) B. C, D only
(3) A.D. Eonly
(4) A.B. D only

TrAteTEa o FFA-H1 =10 =l Feid] SI=ErT i A " TE S =l E
(A) =EEE IF FH ® 9 5 A

(B) =IEEmME 9% F ° 5 A1

(D)  Zifez § F=d A 37 @R Fge 1w

(E) 913 % F % HRU AMIF qF I 2|

= fou U fameTl 0 | OE 3T F =Ee i

(1) =aa A B.C
(2)  #Faa B.C.D
(3) a9 A D. E

(4) a9 A. B. D

[Question ID = 1475][Question Description = Q65_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5897]
2. 2 [Option ID = 5898]
3. 3 [Option ID = 5899]
4. 4 [Option ID = 5900]

Correct Answer :-
e 1 [Option ID = 5897]

50 Match List I with List IT :
ListI List IT (International Trade Theories)
(A) David Ricardo (1817) ()  Theory of absolute advantage
(B) Michael Porter (1990) (I} Factor endowment theory
(C) Adam Smith (1776) (III) Theory of comparative advantage

(T  Hecksacher (1919 — Ohlin (1933) TV Theorv of combetitive advantace



Choose the correct answer from the options given below:
1 A-O @ -d. (© - dh. D) - adv
@ @-an ®-av., ©-O. @O - ap
3 @-av. @& -dn, © -an. @O - @
4 @-ddnh @ -av, € - an, @O - @D

gl 1% wre gl IO o1 fuers Sifs .

ol 1 gl IT (HATTdg samr fagra)
(A) efae freerel (1817) @ i @Y % fagE
(B) Highel 91T (1990) (ID) M Yeda1 figr
(C) v=n fmg (1776) (IIT) qeTedes 1™ 1 fagr
(D) &FE (1919) - 3EfeH (1933) (IV) wfdeTsiess = *1 frgr
e few mu faeedl & |l I 1 = i

1 @W-O @® -d. (© - dn. D - adv
2 @w-dap ®-amv. ©-O. @O -
(3 @-adv). (B - dh. ©) - a). @O - @D
4 @G}-dp ®B-0dv)., ©-@m O-0

[Question ID = 1476][Question Description = Q66_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5901]
2. 2 [Option ID = 5902]
3. 3 [Option ID = 5903]
4. 4 [Option ID = 5904]

Correct Answer :-
e 1 [Option ID = 5901]

67) Match List I with List IT :
List I (Method) List 1T (Purchase consideration)
(A) Lump-sum payment (I) Calculated by adding up the total amount (money
method value) of existing shares, preference shares and cash

received from the purchasing company for the
shareholders of the vendor company.

(B) Net Aszets Method (II) On the basis of ratio in which the shares of the
transferee company are to be exchanged for the
shares of the transferor company.

(C) Net Payment Method (II) The amount to be paid by the transferee company to
transferor company for amalgamation of its business.

(D) Swap Ratio Method (IV) Arrived at by adding the agreed value of assets taken
over and deducting there from the agreed values of
liabilities.

Choose the correct answer from the options given below:

(1) @-dn. (B -dm, (© -@O, @D - adav
@ @-dn ®-av. ©-O. @O - d
3 @W@-av. B -@O. (© -da. (D — Im
4 @A@-av. ® -dn, (¢ -a @ - @D

g I |19 g+ 11 %1 fuas hifsm

b T rrfery =R TT /=7 =



b Vbt Rl i 1 by et ool Lol Ml bt R P

(A)  uehggd g fafa (@  HieE R A SR 3 fagkdl SO & 9E g @
feru sien sl & urA qebe 1 et wfd w1 e il

(B) fraa aufy f4fy (I) 39 HF9d & 3an @ faad s o & SeEEl @l
FHATHY A drefl ol & S § fafr fen s &)

(C) e Yram fafy (L) sxmafeedt &t g 394 sgayrE #1 gonfag +3 & fou

(D) ween-aceft w9 fafa (V) wferfea soafel & w@ega gow &1 Sige R IEY
Hi= feu o fqepedi & |&l I &1 =EA Hifs

1 @-dn. B - ad. (© -@O. (@D - av)
2 @-dn. @ -av. © -@O. @O - d
3@ @W-av. ®-0O. (© —-dD. (D) - (Im
@4 @-dv). B - dh. ©) - an. @O - @D

[Question ID = 1477][Question Description = Q67_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5905]
2. 2 [Option ID = 5906]
3. 3 [Option ID = 5907]
4. 4 [Option ID = 5908]

Correct Answer :-
e 1 [Option ID = 5905]

68) : , .
Match List I with Last IT:
List I (Pricing Strategies) List IT (Description)

(A) Ramsay pricing (I) Setting a high price when a product is first
introduced and gradually lowering price as it gains
scale

(B) Price skimming (I) Firm charges lower price (than the ongoing price)
to gain market entry

(C) Cost plus pricing (IIT) Price deviations from marginal cost should be
inversely proportional to price elasticity of the
product

(D) Penetration pricing (IV) It 1s full cost pricing strategy that also includes

mark up for target return. degree of competition,
price elasticity and availability of substitutes.

Choose the correct answer from the options given below:
() @-dn. B -av. © - O. (O — 1
2 @Ww-dam @ -0 (© - ddn @O - adav
3 @A@-n. B -M (© - 1Ov). O - 1
4 A@->O @ -ad). (© - dh (@O - dI

el 1% | g=0 1L %1 frerm Sifao

i I (g faefoor wrifa) Hefl 1T (feraron)
(A) T gy fatm (M Tl 3e0e &1 9rAn U 3rEa & q9g 3 figa T
30 &2 U THE| YHe ged & =@ie hibd § Hige ol
(B) urEH whifdn (424 geq gt A0 w4 919 8 998 99H & fofe &n fima (Fre] diba

ygfa) qorn H) fauifa @ 21
(C) @nra 3w geg fagio (IIT) i rFd 8 ged fagel 3eqg & dma &=
SR ZF1 9TEu)
(D) AN @ed oo fHemm (IV) =2 i @rE gen Mg wEif 2 el afem giasa
& Taffea @, gfaafm & @, gew @@ 3
wfereenforeni 1 Iuetesrar snfgs 2l 21

A1 fau e forpedi & wdl 3o 1 = Ao



(L) (Aa)—t). (b) — (1v), (L) — (), (@) — (1)
(2) @A-d @®& -0 (©-ada) @ —-a
(3) A-n, B -@O © —-av). O - @@
(4 A-O. @6 -adv). € - @, (D) - a1

[Question ID = 1478][Question Description = Q68_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5909]
2. 2 [Option ID = 5910]
3. 3 [Option ID = 5911]
4. 4 [Option ID = 5912]

Correct Answer :-
e 1 [Option ID = 5909]

69)
Match List I with List IT :
ListI List IT

(A) Market risk () Associated with the efficiency with which a firm
conducts 1ts operatlions within the broader
environment imposed upon it.

(B) Financial risk (I) Arises due to change In operating conditions caused
by conditions thrust upon the firm which are beyond
its control.

(C) External business risk  (III) Variations In price sparked off due to real. social.
political and economic events.

(D) Internal business risk (IV) Assoclated with the capital structure of a firm.

Choose the correct answer from the options given below:

(1) A)-@O. @B - d). (©) - dIm, D) - dv)
(2 @-dn. (B - av). (© - ad. @ - @d

3 @-dn B -0 © -0 @O -av
4 @A-a)., G -dn ©->O. @O - adp

= 1% |1 g I @ faers Sifs

i T I

(A) SN SAIfEn (O 39 Frwga 4 gafia Sem i ufasE 39 o smfie
Jaei TS & et HH HE H HAEH w2

By faefra sifiem D ufgssm w 3gh e 8w ofiferfe smifoa 29 |
& gitfeafadi 4 gftadq & =e@ 29 21

(C) drel s¥adTg Hifigy (III) ardfae, Amifsres, Tra-ifas 3R snfds aensi 4 fma
1 39 & drel gftadq

(D) 3idfear sgammy ShfEy @IV) ufesar & d5fia 2= | Hataa

A feu mu fasedi | |4 3 %1 994 Fifau

(1) A-O @® - dn (© - dn, @O — dav)

(2) (A)— D, (B) — av). (©) — dn. @O - @

(3) A-dn, @ -@OM. (©) -dn. O - av

4 A -1V), (B) — dh, (C) - @O. O — d
[Question ID = 1479][Question Description = Q69_Commerce_25NS1_SHAAN_NOV21]
1 [Option ID = 5913]
2 [Option ID = 5914]

3 [Option ID = 5915]
4 [Option ID = 5916]

A W N -

Correct Answer :-
e 1 [Option ID = 5913]



70)
Logically sequence the following in the process of entering international markets outlined in

the uppsala model.

(A) Sporadic (Ad hoc) exports

(B) Foreign production and manufacturing
(C) Establishing a foreign sales subsidiary
(D)  Domestic operations and production

(E) Exporting via independent representative

Choose the correct answer from the options given below:

(1) (A (B), (C), (D) and (E)
(2)  (©). (B). (D). (A) and (E)
(3) (D). (A), (E). (C) and (B)
4 (E). (B). (D). (C) and (A)

ITETE] HiSe H Sfoiigd Aa2 i S0 H Y= H 6l WAl B HeIengd 51 a56aTd w9 5 @
(A) T (vsErE) FEf

(B)  Taseli zeamem = fafmio

(D) e T F 3T

(E) = UiaMHg & oy o et #=r

S T2 e oot # | wE 3T A=A A

(1)  (A). (B). (C). (D) 3 (E)
(2)  (C). (B). (D). (A) 31 (E)
(3) (D). (A). (E). (C) % (B)
(4)  (E). (B). (D). (C) 3 (4)

[Question ID = 1480][Question Description = Q70_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5917]
2. 2 [Option ID = 5918]
3. 3 [Option ID = 5919]
4. 4 [Option ID = 5920]

Correct Answer :-
e 1 [Option ID = 5917]

= Mateh List I with List IT :
List I (Personlity dimensions) List IT (Individual Traits)
(A) Extroversion (I) Calm, happy and secure
(B) Conscientiousness (IT) Talkative, assertive, sociable and outgoing
(C) Emotional stability (IIT) Creative. curious, intellectual. imaginative and
artistically sensitive
(D) Openess to experience (IV) Self-disciplined. hardworking, organised,

dependable and persistent.

Choose the correct answer from the options given below:



1 @-dad. @& - av. © - dnh. @O - @D

2 @-dad. @ -av. © - @O. (@D - I
3 @-dn ®-ada. © -O O - adv
@ @-amw. ®-0O. (© -d. @O - dm

ol [ < =19 g1 11 %1 faer it .

ol I (31mEm) Tl 11 (afFa® 7o)
(&)  sfedaa @ o, vE= 3R g
(B) el (A1) =g, s, frean sin
(C) wraaTee fEm (IID) =T, faemd, =ifgs, ®ermiea i samms &9
H HagTeia
(D)  FHTETEI (IV) 3mren-srgentaa, ufisdl, wfed, i 9y 3 gaa
i feu mu faepedi & wdl 390 1 =aq Fifso

1 @-@am. ® -av. © - dn. D - @D

@ @&w-@m ®B-av, © -0, O -1
3 @-dn ®-a. ©-0O @O -advm
@ @W-aw ®B-O (© -a, @O - dJm

[Question ID = 1481][Question Description = Q71_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5921]
2. 2 [Option ID = 5922]
3. 3 [Option ID = 5923]
4. 4 [Option ID = 5924]

Correct Answer :-
e 1 [Option ID = 5921]

72) Match List T with List IT ;
TistI List II
(A) Insurance Act (Iy 1988
(B) Life Insurance Corporation Act (IT) 1963
(C) Motor Vehicles Act (III) 1938
(D) Marine Insurance Act (IV) 1956
Choose the correct answer from the options given below:
1 @G-aw, B -Jdn, ©-@ @O — (@
(2) A-O G -0 (© -dmn O - av
(3) A-dn, @ -adv), ©-@O, @O - d
(4 A-av), B - dh, (O -dn O - @
il I < 719 9= 11 %1 faam Sifao .
1 1 g 11
(A) iy sty @D 1988
(B) oA s fm sfufeg (I 1963

(C) It ara sAfafaam (M) 1938

o e



(D)  HH1 =HT SEHTH (IV) 1936

di= feu o farepedi 0 g 39 1 =4 i

1 @A-av). B -—dn ©)-@O. @O - @

2 @-O @®-d (© -Jdn @O - av

@ @-dn) B-3adav). (O-@ @O -4

4 @A-1v). (B —dn, (¢ —-dp. @O - @
[Question ID = 1482][Question Description = Q72_Commerce_25NS1_SHAAN_NOV21]
1 [Option ID = 5925]
2 [Option ID = 5926]

3 [Option ID = 5927]
4 [Option ID = 5928]

A W N -

Correct Answer :-
e 1 [Option ID = 5925]

73)  Match List I with List IT :
List I List IT
Books Author(s)
(A) Wealth of Nations. 1776 {Il': Thomas Malthus

(B) Principles of Political Economy and (I} Karl Marx
Taxation, 1817

(C) Principle of Population. 1798 (III) Adam Smith
(D) Das Capital, 1867 (IV) David Ricardo

Choose the correct answer from the options given below:

L @A-O0O. 6B -dn © - av. @O - db
(2 @W-dn @ -av. © -O. @O - dn
3 @-dd, G -dn © -0 O -av
¢ @-dn ®-dO. (© - av). D - {dn

Tt 1% 9 gt 11 %1 faem =it

T I T 1L
(g5 (=)
(A) ==9 F 494, 1776 (D  oiHE Je9E

(B) Tifages a17% wifaiewa sHiawl ug oogvq, (D) e a9

1817
(C) Tufower =% wigetor, 1798 (III) v=n fo
(D) =™ Fuze, 1867 IV) =faz fewst

H= f5u o foepet § wE 39 o = i

1 @-O @ - dD. (C) - av). (D) - (I
@ @-dn. @® -av. © -@O. @O - dp
3 @-d. @ —-dh, © - @ @O - adv
4 @-dp @ -@O. (© -av). O - d

[Question ID = 1483][Question Description = Q73_Commerce_25NS1_SHAAN_NOV21]



1 [Option ID = 5929]
2 [Option ID = 5930]
3 [Option ID = 5931]
4 [Option ID = 5932]

A W N -

Correct Answer :-
e 1 [Option ID = 5929]

Match List T with List IT :

ListI List IT
(A) Ordinary damages (I} Never granted by way of compensation
for the loss
(B) Special damages (II) They are quite heavy in amount and
are awarded by way of punishment
only
(C) Exemplary damages (III) Arse in the ordinary course of events

from the breach of contract

(D) Nominal damages (IV) The constitute indirect loss suffered by
the aggrieved party on account of
breach of contract.

Choose the correct answer from the options given below:
1) (A-dD, B) - av). (¢ -am, D - @D
2 @-av), @G -dn © -an @O - d

@ @W-O @ -d, (© - av. O - dDh
@ @W-d. ®-O. (© -Jdn @O - adv

ol 1< w g 11 #1 faerm ifau .

g I 1 1T
(&) HmE M =il % for wfagfdes % = i w3l wea 71 61wt 3
(B) fasm afern D 4 wen 4 sedfas vl 2idl 2 3 wad <3 & w9 4 d Il 2
(C) eyl afaa (1) wfeaen o g4 6 feafy O wmre g %y 4 3= gl 2
(D) =rfas afaai @) sfaar 90 20 & rv difzd 9 1 23 arell s 2f
A feu e faehedi & @Al 3w o = Ao

1) (A-@D). B - @), € -a, @ - @
@ @W-amz, B -Jdn, © -dp @O -d
3 @W-0O @G -Jd) (© - dadv). @) - d1D
4 @-d. ® -@O. (© -daan. @O - Iv
[Question ID = 1484][Question Description = Q74_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5933]
2. 2 [Option ID = 5934]
3. 3 [Option ID = 5935]
4. 4 [Option ID = 5936]

Correct Answer :-
e 1 [Option ID = 5933]

Match List T with List IT :

ListI TList IT

(A) Section 35 (2AA) () Payment made to certain institutions for scientific



research.

(B) Section 35(1) (11 a) (II) Payment made to certain institutions for research
in social sclences.

(C) Section 35(1) (ii1) (ITI) Payment made to a company to be used for
scientific research.

(D) Section 35(1) (1) (IV) Payment made to Indian Institute of Technology
for Scientific Research.

Choose the correct answer from the options given below:

@  @-av. B - d. (© - dn. @O - @D
@  @A@-av. B - dn © -ad. @O - @D
@ @W@-0O ®B-d ©-dp @O -av
@ @W-0O. ®B-d ©-a). @O - dn

Hl 1% | g 11 1 foerm i
il g T

(A) W 35 (2 AA) (D st via % fou %o sl <60 e = gram

(B) um 35(1) (ia) () =i fas= 4 9Ny & fau g gegei &l = gEaE

(C) wm1 35 (1) (iid) (IIT) e vty % fem g febw 9 & feau sl &6 faen 0 gorara
(D) =W 35 (1) (i) (IV) i 3ng o fore gredr drenfiehl @eam &1 f650 7= geE

= few v faesedi O |l 39 &1 =94 hif

O @-av, B -da. (© - @n, @O - @D
2 @-av. @ - dh (©) -an. @O - @D
@ @W-O @G -d (© - adn @O - dv
@ @-O ®-d (© -a). (D) - Jn
[Question ID = 1485][Question Description = Q75_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5937]
2. 2 [Option ID = 5938]
3. 3 [Option ID = 5939]
4. 4 [Option ID = 5940]
Correct Answer :-

e 1 [Option ID = 5937]

Sequence the following in increasing order of integration of member economies.
(A) Free Trade Area

(B) Economic Union

(C) Custom Union

(D)  Preferential Trade Agreements

(E) Common Market

Choose the correct answer from the options given below:

(1) A, (C).(E). B). D)
2 (B, (E).©). &) D)
(3) (D). A). (C). (E). (B)
4y  (Q). (E). (B). (D). (A)



HeE sedeqaen sl & vehlanw 4l gfee @ frfoafaa @1 smd o 1 sgafeuq =i
(A)  He AT &
(B) i &4

(C)  Hiurs[o w4
(D) e samaw et

(E) W= 91H
49 feu v faaedi § | v 39 &1 =944 Hifu .

1) A (©).(E) B). D)
2 (B).(E). (), A). D)
(3) (D). (A), (). (E). (B)
4  (C).(E).B). (D). A
[Question ID = 1486][Question Description = Q76_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5941]
2. 2 [Option ID = 5942]
3. 3 [Option ID = 5943]
4. 4 [Option ID = 5944]

Correct Answer :-
e 1 [Option ID = 5941]

The liquidator after realizing the assets of the company should distribute the proceeds
among below mentioned claimants in the following order:

(A) Legal charges

(B) Ligquidators remuneration and cost of expenses of winding up
(C) Workman's dues and claims of the secured creditors

(D) Preferential creditors and creditors secured by floating charge

(E) Unsecured creditors

Choose the correct answer from the options given below:

1) (B). (C). A). (D). (E)
2) D). (©).®B). A).(E)
(3  A).[B).(C). D). (E)
@  (B). (). (E). &). D)

fear® #1 Ful H gl f agelt & o AvE F AdienEg cEse 0 e w A faaiE wen
2

=MEY
(A)  Tatuw == (79R)
(D)  SAToEFT SeR 31 SR T96 gET S wmeeE

(B)  smiaa Fan

= Tou 7w e | 9w 3 R =S hIE,

1) (B). (C). (A). (D). (E)



(2) (D). (L) (B). (A (E)
(3) (A). (B). (C). (D). (E)
4 (B). (C). (E). (A). (D)

[Question ID = 1487][Question Description = Q77_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5945]

2. 2 [Option ID = 5946]

3. 3 [Option ID = 5947]

4. 4 [Option ID = 5948]

Correct Answer :-

e 1 [Option ID = 5945]

Arrange the following market structures in the increasing order of pricing power to firms.
(A) Monopolistic competition

(B) Perfect competition

(C) Duopoly

(D Monopoly

(E) Oligopoly

Choose the correct answer from the options given below:

(1 (B). D). A). E).(©C)
2  ®B).A. E. ©). D)
(3) @A), (©). B). D). (E)
@ D). (). (E) @A) B

freferfiaa amem seansn 6 w61 gog fufor uifda & a9gd e § afenm i

(A)  usIfemard ufaEifim

B ol wfef
(©)  afsn

(D)  uskIfER
(E)  #HAeariasn

= feu v fawedi 0 9 981 39 &1 999 Fifauo

(1) (B). (D). (A). (E). (C)
(2)  (B), A). (E), ©). D)
(3) (A). (©), (B). (D). (E)
(4) (D). (C). (E). (A). (B)
[Question ID = 1488][Question Description = Q78_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5949]
2. 2 [Option ID = 5950]
3. 3 [Option ID = 5951]
4. 4 [Option ID = 5952]
Correct Answer :-

e 1 [Option ID = 5949]

Arrange the following items. i.e. stages of capital budgeting in correct sequence:

(A) Identification of potential investment opportunities

(P Accambline of nronneed Investmante



(C) Decision making
(D) Implementation and performance review

(E) Preparation of capital budget and appropriations.

Choose the correct answer from the options given below:

1 B). A).(E). (C). D)
2y (E)(O).(A). B). (D)
(3)  (©).(E). (D). ([B). @A)
4@ A). B (). (E). (D)

(A)  Hyre fEw sraE F ygEE

B)  wEaraa e & gareE

©) i

(D)  wEFEE 3 e 6 adian
(E)  Oofl a9 AR faf=mn &1 g

4= feu o faeedi O 8 9d I %1 99 Fifo

(1) (B). (A). (E), (C). (D)
(2) (E). (O). (A). (B). (D)
(3) (C). (E), (D). (B). (A)
(4) (A). (B), (C). (E). (D)
[Question ID = 1489][Question Description = Q79_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5953]
2. 2 [Option ID = 5954]
3. 3 [Option ID = 5955]
4. 4 [Option ID = 5956]
Correct Answer :-

e 1 [Option ID = 5953]

80) Arrange the following stages of processing of data in a correct sequence:
(A) Coding
(B) Editing
(C) Tabulation
(D) Classification

(E) Using Percentages

Choose the correct answer from the options given below:

1) (A (B).(C). D). (E)
2y D). (A). B). (C). (E)
(3)  (C). (D). (A). (B). (E)
(@) (B). Q). D). ©). E)

A=l & wegvl & Tefafaa = +1 98 w9 1 srEfemn #61i.



(A) e -Hdad

B)  H9IE
(Cy Wi
(D)  afieam

(E)  wfasrdi =1 5=
49 feu o fawedi § 8 w58 I F1 95 Fifw

(L A. B.(C). D). (E)
2y D). A). ®). (©).(E)
(3 (O). (D). (A). (B). (E)

@  (B. @A) D). (). (E)

[Question ID = 1490][Question Description = Q80_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5957]
2. 2 [Option ID = 5958]
3. 3 [Option ID = 5959]
4. 4 [Option ID = 5960]

Correct Answer :-
e 1 [Option ID = 5957]

Arrange the following characteristics of stages of group development in the increasing order:

(A) Members begin to resolve differences and clarify the purpose of the group and the
roles of group members.

(B) It includes recognition for participation and achievement.
(C) Members are highly task — oriented and there is unity in the group.
(D) Conflicts start arising due to the differences of opinion among members.

(E) Members are moderately eager. have positive expectations, anxious about why they

are there, and who other members are

Choose the correct answer from the options given below:
(1)  (E). (D). A). B).(C)
(2) (D). (E). (C). (A). (B)
(3  (E). D), A). (). B
(4 (D). ®B). A).(E). (O

aqz fasm il sraeensi & Feifed sifgason 6 agd #u 0 gafeed +i

(A)  HeEd Wave gOdHl % G B 300 G4 % Ieevd 3N YR % wewdl i yiwms 1 v #d
E

(B) =ad yfawifien 3 syaf i g sfve 24 2)

(C)  Hew 3ieid SfEn-3qel #d & 3 aye 1 vk 2l 21

(D) #He&=l & o9 wadg & AV THE IE 7 G182

(B)  \eedl o\ fsmn sin aemes e & 2 3 9 37 =g % 978 24 & R 3 g
Heedl % 9i 1 991 B IeE B B

Hi= feu o faedi § 9 wE I @1 =9 hif

(D (E). (D). A). B). (C)
D Y (Y (Y (AY (B



N . S REELF T NTTFS NS

(3) (E). (D). Y). (C). (B)
(4) (D). (B). (A). (E). (C)
[Question ID = 1491][Question Description = Q81_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5961]
2. 2 [Option ID = 5962]
3. 3 [Option ID = 5963]
4. 4 [Option ID = 5964]
Correct Answer :-

e 1 [Option ID = 5961]

Arrange the following steps in logical sequence of operation of the registration of portfolio
managers:

(A) Prior approval of the SEBL

(B) Adequate steps for redressal of investors grievances.

(C) Maintenance of the specified capital adequacy requirements.
(D) Payment of fee.

(E) Abide by the regulations under the SEBI Act.

Choose the correct answer from the options given below:

(D (O (E). ). B). D)
2y (D). A). ®B). (E).(C)
(3) (@A), D). (B). (C). (E)
4 (D). (E) @A), (©.®B)

il yeel & Joffem 6l wrefard A gefua ffataa =i @ afde o 0 safim fif
(A) & g s

B)  THawreni i feprE & e & fou sfaa #en

(C)  fafafdse Jft—gaivaar &l smavaal &1 &= wE

(D) I FH YA

(E)  Hel sifufam & fafaea & ueE &

49 feu v faeeyi O | |58 39 &1 999 Fifdu .

1y (O (E). A). B). D)
2y (D). (A). B). (E). (C)
(3 @). [D). B).(C). (E)
4 (D). (E). A). (). ®B)

[Question ID = 1492][Question Description = Q82_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5965]
2. 2 [Option ID = 5966]
3. 3 [Option ID = 5967]
4. 4 [Option ID = 5968]

Correct Answer :-
e 1 [Option ID = 5965]

83) Arrange the following stages of consumer decision making process in a sequential order

with regard to a voung person Divya :

(A) looks for a specific colour and showroom delivery as she does not want to wait.



(B) narrows down to a dark grey car of a specific brand.
(C) belongs to an executive group and all her colleagues have their own vehicles.
(D) uses media and other social channels to collect information about different models.

(E) feels that fuel efficiency should be the most critical factor while making a choice.

Choose the correct answer from the options given below:
(1) (A, ©). (B). D). (E)
2 (C). (BE). D). A). B
(3)  (C). @A), D). (E). (B)
(4)  (E). (C), (A). (D). (B)

T H Ul 5 % FeE-nufEE % i F = w waeg W

(A) e o 1 vg wEd gyt =rEdl 7 w9 9w ufaen T8 e aekdi|
(B)  TEL gE U1 i HE wF A §0E H g A

(C)  =H=%9T9F Tz | 371l 2 37 6 Tl FeAE § I S FR 2

(D)  Hits va 3177 "o =9el 1 ST e G0 Jisel d SEidgd FEEE] 90E Fl 7

(E) = a1 4 mewe &1 5 Al & 9918 ¥ Su9-%8a1 998 Hecaqvl s 21 =9ian |

1 fau o el 9 © WA 3 = i

(D @). (©). (B). D). (E)
(2)  (O).(E). (D). (A). (B)
3  (O). &) D). (E). (B)
@ (E) (©). A). (D). (B)

[Question ID = 1493][Question Description = Q83_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5969]

2. 2 [Option ID = 5970]

3. 3 [Option ID = 5971]

4. 4 [Option ID = 5972]

Correct Answer :-

e 1 [Option ID = 5969]

Arrange the following stages of formation of companies in a proper sequence :
(A) Promotion stage

(B) Raising of share capital stage

(C) Incorporation stage

(D) Commencement stage

(E) Selection of name

Choose the correct answer from the options given below:
(1)  (C). A). (E). D). (B)
(2) (B). (E). (A4). (C). (D)
(3) (A (E). (C). (B). (D)
4 D). @A) ®B). (0. (E

Fafyt 1 7w F & ofafias = # sua92 &5 -



(A)  Hada =
(B) 39 9l & R @
(C) g =
(D)  wrfiys =

(Ey A4 =1 =94
f=1 fou e fspedi @ & @8 I &1 WA Hiw ;

(1)  (C). (A). (E), (D). (B)
(2)  (B). (E). ). (). D)
3 (A E.(C).([B). D)
4 D). A, ®B). (). (E)
[Question ID = 1494][Question Description = Q84_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5973]
2. 2 [Option ID = 5974]
3. 3 [Option ID = 5975]
4. 4 [Option ID = 5976]

Correct Answer :-
e 1 [Option ID = 5973]

Sequence the steps for computing gross annual value of income from house property:

(A) Find out the rent actually received or receivable after excluding unrealised rent
before deducting loss due to vacancy.

(B) Find out the loss because of vacancy.

(C) Find out the reasonable expected rent of the property.

(D)  Find out which one is the higher amount computed in (C) or (4).

(E) (D) — (B) 1s gross annual value

Choose the correct answer from the options given below:
1) (C).A). D). ®B).(E)
2 Q). D). ©). ®.(E)
(3) (D). (A). (C). (B). (E)
(4) (A). (B). (C). (D). (E)

TE TR | AT T T AMGF Hed Hl T F TN F HHEG F

(A)  9FGd ¥ O g 0 [ @1 TEE Wl T F B0 309 2 9EH F 9l U S R H
(B)  HF Wl T % B FE A A I

[ A

(C) =M % Tgi=d Teanee R &1 941 = 2|

(D) (C) 3 (A) =1 Tom i wxfes oy =i o 61 72 2, F 9 S

(E) (D) —(B) o a1 904 2|

Hi= fou T fomedl 6 | wEl ST 1 =EA i

(1) (C). (A). (D). (B). (E)
(2) (A), (D). (C). (B). (E)



(2) (L, (a), (W) (B), L)
(4) (A). (B). (C). (D). (E)

[Question ID = 1495][Question Description = Q85_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5977]
2. 2 [Option ID = 5978]
3. 3 [Option ID = 5979]
4. 4 [Option ID = 5980]

Correct Answer :-
e 1 [Option ID = 5977]

Given below are two statements:

Statement I : Deferred Tax Liabilities (INet) 1s the amount of tax on the temporary difference
between the accounting income and taxable income. It arises when the

accounting income is more than the taxable income.

Statement II : Deferred Tax Liabilities (Net) and Deferred Tax Assets (Net) are only book

entires 1.e. they are neither actual liability nor actual asset.

In the light of the above statements. choose the correct answer from the options given
below:

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true but Statement II is false

(4 Statement I 1s false but Statement II 1= true
= @1 %A fou o F
Fe 1 sl s gaand (Fae) o sm i S 39 & dm s s g ol 2) o
o M AT 31 4 AU gl 2, 98 Ig9d a8
FY I :  ARARE F gam (Feaa) 3R Arfta o qeafadl (Ha@) fasE vfafe o § 59| 9
3 A1 arfass ggd1 2 3 3 91 ardfas )

I HeH & el °, i fqu 70 fawed 4 § dad 37w IT F 994 i

() A I 3 I gFi 587 21
(2) A I 30 I SH e 2)
(3)  Fua I Hd 2, wifek %o I 7edd 21

(4) & 1A 2, dfesd e[ I 98l 8l

[Question ID = 1496][Question Description = Q86_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5981]
2. 2 [Option ID = 5982]
3. 3 [Option ID = 5983]
4. 4 [Option ID = 5984]

Correct Answer :-
e 1 [Option ID = 5981]

87) Given below are two statements:

Statement I : Modified Internal rate of return is based on reinvestment assumption.



Statement II : Value — additivity principle is not applicable in NPV.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I 1s correct but Statement IT is incorrect.
(4 Statement I is incorrect but Statement IT is correct.
H= g1 %o feu o E)

heH 1 Huiifaa wiafes viase & g gy smumn g e @6 2
FYH IL:  ged Haidd g oA 6 & w a2 2

IR A @ HAeltss °, 4 fou o fawmedi d 8 wwd 30w 3w w1 99q Fif)

(1) @A I 3 I €M 9df 8)
(2) ¥ I 3 II g1 Ted 21
(8)  #Ud I Td 2, dfeF Fea I ed 2

(4)  ®¥ I7ed 2, dfha syd 11 58 2

[Question ID = 1497][Question Description = Q87_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5985]

2. 2 [Option ID = 5986]

3. 3 [Option ID = 5987]

4. 4 [Option ID = 5988]

Correct Answer :-

e 1 [Option ID = 5985]

Given below are two statements:

Statement I : Delegation is an interpersonal transactions based on behaviour analysis.

Statement IT : Delegation 1s an evolutionary and developmental process which needs

encouragement and reinforcement.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both Statement I and Statement IT are correct.
(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement Il is incorrect.

(4) Statement I is incorrect but Statement IT is correct

I @1 e feu o &)



HeH T - gAY sHaER faver q snuia stAdats @eadEn B
S IL: YR Ueh shofashmaTedeh 311 farermarenes uisen 21 fomd Wiedred 3 qeeq il srayded 21

ST &Y & eltss 4, e fqu o faswedi 0 3 dead 30gw I &1 954 fifau)

(1)  @%F I 3 II g1 921 2)

(2) ¥ I 3 I 261 rerd 2

(8)  HuH I H& 2, oifed uA I 7Tera 2

(4) &= 17T 2, eifed w9a I1 |et 8

[Question ID = 1498][Question Description = Q88_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5989]
2. 2 [Option ID = 5990]

3. 3 [Option ID = 5991]
4. 4 [Option ID = 5992]

Correct Answer :-
e 1 [Option ID = 5989]

Given below are two statements:

Statement I : Only low priced products will sell in rural india.

Statement II : Rural consumers are a homogenous lot.

In the lizht of the above statements. choose the most appropriate answer from the options

given below:

(1) Both Statement I and Statement IT are correct.
(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct but Statement II is incorrect.

(4 Statement I is incorrect but Statement IT is correct.
i< 21 %A fou mo E)

FHET . had HE-gea F Ieare wrdi ST g fae)

FYAIL: YT I9Te1 U HETT-TYE 2 8l

IV HYA < ATl H, e fou u famedi 4 9 ged I0geE I 1 =59 dif)

(1) YA I 310 I €[ 9=l 8)
(2) @Y I 3 II gHi Ted 2l
(3)  Fud I 68 2, aifed %o II werd 2

(4)  HUE 176 2, dfk suA I HE 8

[Question ID = 1499][Question Description = Q89_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5993]
2. 2 [Option ID = 5994]
3. 3 [Option ID = 5995]
4. 4 [Option ID = 5996]



Correct Answer :-
e 1 [Option ID = 5993]

Given below are two statements: One is labelled as Assertion A and the other 1s labelled as
Reason R.

Assertion A : ITR — 1 can be used by an individual whose total income does not exceed Rs. 1

Crore.

ReasonR: ITR — 1 cannot be used by an individual who is director in a company.

In the light of the above statements, choose the most appropriate answer from the options
glven

below:

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3 A 13 correct but R i3 not correct

(4) A 1s not correct but R 1s correct

fa i)

= 71 o fou o 3| v @ivEeE (Assertion A) F ®9 1 foifEa # @ 8 30F FA0 (Reason R) F

FAgFE A 3E F W | 1 YA UH St R AT W1 deal | TaEehl B A 1 s T
afas 21

FIR 3T F1 AW 1 F1 I9ART UH SI0F T A1 TR S Ol & A1 U F | e E

IWIF F F AR 9, A= o T EEeT § @ 5eE 30 S w0 =a i)

(1) A 3R R 5l =# 2 3t R, A =i @& =men 2|
(2) A 3R RTE&A 7 3 R, A =i @@ =awen 95 2
(3) Aw=d At R @d 6 2

(4) AT 78 ? =9 R T91 7

[Question ID = 1500][Question Description = Q90_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5997]
2. 2 [Option ID = 5998]
3. 3 [Option ID = 5999]
4. 4 [Option ID = 6000]

Correct Answer :-
e 1 [Option ID = 5997]

Topic:- Commerce_25NSH1_SHAAN_NOV21B

1)
Passage

In 2019, India’s ten largest trading partners were USA, China. UAE, Saudi Arabia,
Hong Kong, Iraq. Singapore. Germany, South Korea and Switzerland. In 2018 — 19, the
Foreign Direct Investment (FDI) in India was $64.4 billion with service sector, computer and
telecom industry remains leading sectors for FDI inflows. India has free trade agreements
with several nations. including ASEAN, SAFTA, Mercosur, South Korea. Japan and few
others which are in effect or under negotiating stage. The service sector makes up 55.6% of
GDP and remains the fastest growing sector, while the industrial sector and the agricultural
sector employs a majority of the labor force. The Bombay Stock Exchange and National

L - - @S a9 . W wm - e s - - - - & P



wbieh faCllallze alfe OLle UL LIS VYOollld 5 lalposl olUObh CaClldllscts O IHNal kel Caphllallsa LicEL.
India is the world's sixth — largest manufacturer, representing 3% of global manufacturing
output and employs over 57 million people. Nearly 66% of India’s population 1s rural whose
primary source of livelihood is agriculture and contributes less than 50% of India’s GDP. It
has the world's fifth — largest foreien — exchange reserves worth ¥ 38,832.21 billion
(US 3540 billion). India has a high national debt with 68% of GDP. while its fiscal deficit
remained at 3.4% of GDP. However, as per 2019 CAG report, the actual fiscal deficit 1s 5.85%
of GDP. India's government — owned banks faced mounting bad debt. resulting in low credit
growth; simultaneously the NBFC sector has been engulfed in a liquidity crisis. India faces

high unemployment, rising income inequality and major slump in aggregate demand.

On the basis of the above passage, give answers to question

India has significant trading partners from which of the following regions:

(A) Europe
(B) America
(C) Asia

(D) Africa

Choose the correct answer from the options given below:

(1) (A).(B), (C) only
2)  (B).(C). (D) only
(3)  (A). (B). (D) only
(4)  (A) and (D) only

fFrAferfaa = % ST W U # ST

a9 2019 H, WAA * ©H G99 §3 SANE GEGE 9 JuEe, =F, J05, g3 A, ERTEE, S,
fomgr, T, s wifE iR s, 201819qmwn{a?:rﬁu—a?qﬁm(wmm)
64.4 Tafea7 sfem o1 3 T1 539, FH2 SN TSR T UF I AT AA0EE F U0E 89 s a0 B
@W.W.W,ﬁfﬁm‘ﬂﬁmﬂﬁ?gﬂmmmquﬂaﬂﬁwmu%w?ﬁ.ﬂﬁ-.m
27 = A1 TR AEEE 2| Ha S 1 SIS 0 55.6% AMEH & S T8 Ted 99 O sl 531 89 2, JEE
SRS &7 3 FT &9 § S50eaF 40 a9 H T A 2| A YA S g o A i v
SN JIAE =TF UHEES A F A 9% 206 TSl § § UF 2| WEd g F1 981 Hed 931 et 2
S dAfeas EFEE FE % 3% 1 SR Fal 7 SN 57 Hilemd @ H TS USE w2 | 9 i
FAHEAT T AT 66% i 7 e nllqh|u|ﬂ41ilmﬂ|q4wmﬁ??fﬂ=‘dﬂtsﬂ w1 w1 S |
5“—5Wnlmw%{?ﬁﬂmﬂmwaﬂﬁ?ﬁqﬂw%hﬂﬂw3883221m1rm=rm|
(540 Taferaa smfh Sior) 21 9na F1 TLE I FR AGF 2 N ASd H 68% 2, FA€H TTHGE
o S W 3.4% = TR AT, Q.Olgﬁﬂacmﬁﬁ?mfﬁaﬁmﬁ,mmmmaﬁ‘mw
5.85% & WA % THN SHI 1 SFEHEN] EO qGA 71 @ & fvwd avg gt § 4 et 3 sww ana-
T TS UF H HE el T2 § IO 59N 2| WG I SRR, S I wedl SFEEEa AN T
o1 9w g A w2

Frerferfiga 1 9 fopm 2 9 wwa % geeagl sararfe grefen 7

(A) T
B) i
(€) i
D)  HEIH

I feu o fawedi § 9 ad 3@ #1 =999 Fifsw .

(1) & (A), (B). (C)
(2)  ®ae (B), (C), (D)



(3)  Fa (A), (B). D)
(4) T (A) 31 (D)

[Question ID = 1501][Question Description = Q91_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6001]
2. 2 [Option ID = 6002]
3. 3 [Option ID = 6003]
4. 4 [Option ID = 6004]

Correct Answer :-
e 1 [Option ID = 6001]

Passage

In 2019, India’s ten largest trading partners were USA, China, UAE, Saudi Arabia,
Hong Kong. Irag. Singapore. Germany. South Korea and Switzerland. In 2018 — 19, the
Foreign Direct Investment (FDI) in India was $64.4 billion with service sector, computer and
telecom industry remains leading sectors for FDI inflows. India has free trade agreements
with several nations, including ASEAN, SAFTA. Mercosur, South Korea. Japan and few
others which are in effect or under negotiating stage. The service sector makes up 55.6% of
GDP and remains the fastest growing sector, while the industrial sector and the agricultural
sector employs a majority of the labor force. The Bombay Stock Exchange and National
Stock Exchange are one of the World's largest stock exchanges by market capitalisation.
India is the world's sixth — largest manufacturer. representing 3% of global manufacturing
output and employs over 57 million people. Nearly 66% of India’s population is rural whose
primary source of livelihood 1s agriculture and contributes less than 50% of India’s GDP. It
has the world's fifth — largest foreign — exchange reserves worth ¥ 38.832.21 hbillien
(US 3540 billion). India has a high national debt with 68% of GDP. while its fiscal deficit
remained at 3.4% of GDP. However. as per 2019 CAG report. the actual fiscal deficit 15 5.85%
of GDP. India’s government — owned banks faced mounting bad debt, resulting in low credit
growth; simultaneously the NBFC sector has been engulfed in a liquidity crisis. India faces
high unemployment, rising income 1nequality and major slump in aggregate demand.

On the basis of the above passage. give answers to question

Which of the following sectors have significant Foreign Direct Investment (FDI) in India?

(A) Service Sector

(B) Secondary Sector

(C)  Primary Sector

(D)  Fisheries and Animal Husbandry

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A) and (D) only

[FeAfeiEd = % YT W U9 5 I G

a9 2019 H, WAA * oH G99 §3 SANE GEGE 9 JuEe, =F, J05, GIE A, ERTEE, S,
fomgr, W, wfEer wifEn s Seaets. 2018-19 § WA B faeEh wea fEwm (v 6 oam)
64.4 Tafea7 sfem o1 3K T &3, F92 S TSN I UF I AT A9 09 F U099 &9 §H 0 2
@W.W.W.ﬁmm.ﬂﬁgﬁmm$mﬂmﬂgﬂﬁwmu%w?ﬁ.ﬂﬁ-m
27 = A1 TR AEEE 2| T S SIS 0 55.6% AMEH & S T8 Te 99 § el 53 49 2, J6E
ST w3 mﬁmqmﬂmwmm%wmﬁ?ﬁvmmw
34Trr1a|rmwmw<4w?ﬁ11Twa—s'quHw5|W?ﬁmﬂwmaﬂﬁmﬂﬁi
w1 dAfeas EFEE 8 % 3% 1 SR Fa £ HE 57 HieEH S H TS USE Rl 2| 9 i
HAETET T ST 66% TTH 7 mﬁwwmmmwﬁ*mzﬂmwwﬁfﬁ%ﬁmn
ooﬁwﬂlmwﬁﬂwmwwﬁmqﬂw%ﬁmﬂﬂ3883221mfwﬂm|




(540 Tafermm smfcht =tor) 21 9nE 1 THF 39 Fhl AF 2 0 AS Fi 68% B, FTEH THGE
°rer SISl F 3.4% wA1 @ wiEd, 2019 fi diesft ol # sgEn, avndtas aww ger AL @
5.85% 2| WA F THH! S F FATFHR] FHV ATl 71 W 7 A0 5 gig § w0 7 T6E WA
WY T TF H HF derdl T2 § Sl 51 2| UG S99 sRFIRI, @1 i Sedl STEEEal S 6
o § qHt w1 T A = T A

freaferfiga 4 4 faa & 1 wa 9 vege faesfi fam (vwdiamd) sifus 27
(A)  Hal &

B) g &

(C)  wrafu=w &=

(D)  He= 3R 9] gl

e feu e fasredi O 4 wdl I w1 A Fifaw . gl Iy

(1)  %Faa (A) 3 (B)
(2)  %ad (B) 3l (C)
(3) e (C) 3 (D)
(4)  ad (A) 3 (D)

[Question ID = 1502][Question Description = Q92_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6005]
2. 2 [Option ID = 6006]
3. 3 [Option ID = 6007]
4. 4 [Option ID = 6008]

Correct Answer :-
e 1 [Option ID = 6005]

Passage

In 2019. India’s ten largest trading partners were USA, China. UAE. Saudi Arabia.
Hong Kong. Iraq. Singapore. Germany. South Korea and Switzerland. In 2018 — 19, the
Foreign Direct Investment (FDI) in India was $64.4 billion with service sector, computer and
telecom industry remains leading sectors for FDI inflows. India has free trade agreements
with several nations. including ASEAN, SAFTA, Mercosur, South Korea. Japan and few
others which are in effect or under negotiating stage. The service sector makes up 55.6% of
GDP and remains the fastest growing sector, while the industrial sector and the agricultural
sector employs a majority of the labor force. The Bombay Stock Exchange and National
Stock Exchange are one of the World's largest stock exchanges by market capitalisation.
India is the world's sixth — largest manufacturer. representing 3% of global manufacturing
output and employs over 57 million people. Nearly 66% of India’s population is rural whose
primary source of livelihood 1s agriculture and contributes less than 50% of India’s GDP. It

has the world’'s fifth — largest foreign — exchange reserves worth ¥ 38.832.21 billion
(US 3540 billion). India has a high national debt with 68% of GDP. while its fiscal deficit
remained at 3.4% of GDP. However. as per 2019 CAG report. the actual fiscal deficit 1s 5.856%
of GDP. India’s government — owned banks faced mounting bad debt, resulting in low credit
growth; simultaneously the NBFC sector has been engulfed in a liquidity crisis. India faces
high unemployment, rising income inequality and major slump in aggregate demand.

On the basis of the above passage. give answers to question

Which among the following statements is the correct one? (Choose the most appropriate
one)?

(1) India has a better trade relations with European countries.

(2) MSE 1s the largest stock exchange in the world.

(3 Indian primary sector 1s contributing less as compared to other sectors.



(4) India attracts highest FDI from USA.

B e i o e e 5 L o e e A

a9 2019 H, YAA * W GEH 9% AR WEGR 9 JuAv, =F, JU5, W34 A, ERTEE, S,
fomgr, WA, S w3 e, 2018-19 9 uRa ° fE9eEi wemam FeEwm (vw S eim)
64.4 faferaa sfem o1 3 W1 &4, F920 3R THEN 90 UF ¥ AE S66.EE F E &9 54 50 A
@W.W.W,Fﬁ?ﬂmwﬁm.ﬂﬁgﬁmmxwam?lﬂgﬁwmu%w?@.jﬁx-.m
T F WY AR AEEA 2| HA & F AE " 55.6% A 7 AN T8 TOH oS § Agal 53 &9 7, T6E
SRS &7 3T T &9 § S5HeaF 41 99 H T 9 2| aW G fi g o A =i v
HIT JTAE =T THEES A F T 9% 20 e § § UF 2| WAA g H @81 Hed w1 =t 7
w1 dfeas EFEE FE % 3% 1 S Fal # S 57 Hilemm S H TS UGE w2 | 9 i
WIIWGG%W%MH*,miqhmlﬂ—ﬂﬂmw-hﬁﬂﬂ??fﬂ“dﬂ?wmwwﬁ—-ﬁ%ﬁtﬁﬂ
5“—5Wﬁnlmw%ﬁfmmmwﬁmqﬂw%hﬂﬂw38832211@11%111=rm|
(540 fafema smichi sien) 71 9na i U@ 3urdl Hrfl sAta® 2 =0 A Fi 68% 2, FAaH TAHHEE
ol S W 3.4% = TR AT, Q.Olgﬁﬂacmﬁﬁ?mfﬁaﬁmﬁ,wmmmaﬁ‘mw
5.85% 2| WA % THHI Sl P AATFRRI FHV Fqgal 1 @ ¢ d o gig § w2 s6h wma—
WY TS U i WFA AAd] TR § IS BAT 7| 9N F=d SUSR, S S Sedl STEEEaT 71 T
mnﬂﬁwﬁ@ﬁhmwmﬁwqi

frefarfiga sedi 9 3 & |18 27 (waffus 3wy g4)

(1) I <9 % WY A & dEa SN HaY 3

(2) U UH § g % HEH a3 ik vaHad 2l

(3) 3= HaEdl Il qe U YEA &1 WA Ha FH AREH Fdl 2
(4)  WFA I JUAU H HE(9E UHSIIE W 2 2

[Question ID = 1503][Question Description = Q93_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6009]
2. 2 [Option ID = 6010]
3. 3 [Option ID = 6011]
4. 4 [Option ID = 6012]

Correct Answer :-
e 1 [Option ID = 6009]

Passage

In 2019, India’s ten largest trading partners were USA, China. UAE, Saudi Arabia,
Hong Kong, Iraq. Singapore. Germany, South Korea and Switzerland. In 2018 — 19, the
Foreign Direct Investment (FDI) in India was $64.4 billion with service sector, computer and
telecom industry remains leading sectors for FDI inflows. India has free trade agreements
with several nations. including ASEAN, SAFTA, Mercosur, South Korea. Japan and few
others which are in effect or under negotiating stage. The service sector makes up 55.6% of
GDP and remains the fastest growing sector, while the industrial sector and the agricultural
sector employs a majority of the labor force. The Bombay Stock Exchange and National
Stock Exchange are one of the World's largest stock exchanges by market capitalization.
India i1s the world's sixth — largest manufacturer, representing 3% of global manufacturing
output and employs over 57 million people. Nearly 66% of India’s population 1s rural whaose
primary source of livelihood iz agriculture and contributes less than 50% of India’s GDP. It

has the world's fifth — largest foreien — exchange reserves worth ¥ 38,832.21 billion
(US 3540 billion). India has a high national debt with 68% of GDP, while its fiscal deficit
remained at 3.4% of GDP. However. as per 2019 CAG report. the actual fiscal deficit 1s 5.85%
of GDP. India’s government — owned banks faced mounting bad debt, resulting in low credit
growth; simultaneously the NBFC sector has been engulfed in a liguidity crisis. India faces
high unemployment. rising income inequality and major slump in aggregate demand.

On the basis of the above passage. give answers to question



The Comptroller and Auditor General has reported a different estimate than of

governements, in terms of :

(1 GDP (2) Fiscal Deficit

(3) FDI (4) Liquidity of private banks

Al Egd = % ST WYY 5 3

a9 2019 H, WAA F TH HOE 93 =MW H@EGR 4 Juhe, =W, J05, @4l 3, TR, 3,
formge, =T, oigw wiRET iR wizeneds. 2018-19 H wRA A facsii wemam Fewm (vE € amg)
64.4 Tafem =fem o 3 a1 &9, FH SN TEER IUM UF ¥ AT HA.TEE F U099 89 3 0 2
TS, T, THEE, SEw HIE GBS 9 59 F WY WG g9 SR 31 2 SN F9 R 99
T % A1 AR AEE | HA &9 F ASH H 55.6% AN & IR A5 ToE a9 § @Al 5 & B, FEE
ﬁmﬁxﬂjﬂh?haIHTWﬂ$ﬂnvwmwmmmm%awrwwwmﬁﬁ%namnm$mm?ﬁ
AT S W THES A1 F T 9% W0 S § O UE A | WRA g1 T 981 5eE w31 faEE 7
o Afva® FAEE T 3% F S92 SR 57 Hilerm S H USEIR YSH Fal 2| 9EA Hi
SHEEAT ST 66% A 2 e muh|u|s1-|1~7lmﬂ|l+-tmw3?fﬂ=‘amsﬂHﬂwwﬁ—-ﬁ’sﬁq‘iﬂ
5“—5Wnlmwmwmmwﬁmqﬂw%hﬂﬂw3883221w1rm=rm|
(540 fafema smithi sien) 71 9na i @ 3urdl Hrfl sAtas 2 =0 ASmd Fi 68% 2, FTaH THHHEE
=T SIS w1 3.4% S TR S, Q.OIQﬁﬁmﬁﬁ?mfﬁaﬁmw,wmmaﬁ‘mw
5.85% %| WA F TFH] Sl H1 AATFRR] FHV Fqgal 71 W ¢ AoE o gig § w2 sus wma—
Y TS UF H HF el B2 U SorE 5 B| WWA I=d SEeE, AF ] 9edl SEEE S a6
|7 Wil FH F A A w2

il HETHiar A e Hed W HTeRE # 3ie HEH S fR 27

(1) e (2) TSR =R
(3) UESAE (4) Tt =i F e

[Question ID = 1504][Question Description = Q94_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6013]
2. 2 [Option ID = 6014]
3. 3 [Option ID = 6015]
4. 4 [Option ID = 6016]

Correct Answer :-
e 1 [Option ID = 6013]

Passage

In 2019, India’s ten largest trading partners were USA, China, UAE, Saudi Arabia,
Hong Kong. Irag. Singapore. Germany., South Korea and Switzerland. In 2018 — 19, the
Foreign Direct Investment (FDI) in India was $64.4 billion with service sector, computer and
telecom industry remains leading sectors for FDI inflows. India has free trade agreements
with several nations., including ASEAN, SAFTA. Mercosur, South Korea. Japan and few
others which are in effect or under negotiating stage. The service sector makes up 55.6% of
GDP and remains the fastest growing sector, while the industrial sector and the agricultural
sector employs a majority of the labor force. The Bombay Stock Exchange and National
Stock Exchange are one of the World's largest stock exchanges by market capitalisation.
India is the world's sixth — largest manufacturer, representing 3% of global manufacturing
output and employs over 57 million people. Nearly 66% of India’s population is rural whose
primary source of livelihood is agriculture and contributes less than 50% of India’s GDP. It

has the world's fifth — largest foreign — exchange reserves worth ¥ 38.832.21 billion
(US 3540 billion). India has a high national debt with 68% of GDP. while its fiscal deficit
remained at 3.4% of GDP. However. as per 2019 CAG report. the actual fiscal deficit 15 5.85%
of GDP. India’s government — owned banks faced mounting bad debt, resulting in low credit
growth: simultaneously the NBFC sector has been engulfed in a liquidity crisis. India faces
high unemployment, rising income Inequality and major slump in aggregate demand.



On the basis of the above passage. give answers to question

Which of the following has not been articulated in the passage?

(A) GDP Growth
(B) Currency flows
(© Liguidity

(D) Demographics

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (B) only

(4) (C) and (D) only
F=feTiad T % YR W uvE W I G

ad 2019 H, WA * ©H G99 §3 SANE GEGE 9 guEe, HF, U, g3 A, EREE, S,
fmg, S, afer wifEn R wesnes. 2018-19 § oW ® faseft yew fEm (ww € am)
64.4 Tafe=7 sfem o1 3 Ta1 &3, FH2 SN TSN I UF I AT A9 0EE F U0E 89 5 50 A
U, FIHN, WEHIEE, S0 R 3 T S 290 % O YEA g9 AW A5 7 5 59 s 5
e TNy AR AT 2| S SE ° 55.6% AeE 7 #i 7w Te A9 F agar 24 &9 2, S
ST &7 3 F & T SEEeaF 49 §9 F TR 9 2| AR TS 5 ¥ 6 w2 e
T 9T i THEES g1 F e Sg 0 TSl 0O UF 2| WAA 5T #5981 Hed s At 7
1 AT fAFEm 77 F 3% F IAET T 2 AR 57 Hifem A AR UEE AT 2| 9Rd i
I ST 66% T £ TSR S 1 MAE W H 2 37 T &9 1 9EG F A g
5% WFIEH 2| 8% i fava 1 o= gem a9 el g1 wen # SEw geg 38.832.21 faferm= w94
(540 Tafermm smfch =ior) 21 9ma 1 T 39 F=rh =179F 2 0 S fi 68% 2, FuF TR
Trer S F3.4% =1 @ wfEA, 2019 fi diesft o % s, avatas aww g AL
5.85% 2| WRA F THHI S H1 AR HV Aqgal 71 @ ¢ d ong gig § w3 sHE wma—
Y TS UF H HE WeAdl T2 H IO 5901 2| WG I sASFIRI, S F agdl FEEEd A1 a6
o § qHl FH T A T R

fre 4 | $19 | ges meiw § srafdfa 98 20
(A) GDP fa=mH
(B) gl F UGTE

(C) v

(D) AT

A feu o farsmedi 0 @ wél I 1 WA FifAe ;. HEH IugHE

(L) Fad (A) 3R (B)
(2)  %ad (B) 30 (C)
(3)  Fad (B)

(4)  Fad (C) 3 (D)

[Question ID = 1505][Question Description = Q95_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6017]
2. 2 [Option ID = 6018]
3. 3 [Option ID = 6019]



4. 4 [Option ID = 6020]
Correct Answer :-

e 1 [Option ID = 6017]

Topic:- Commerce_25NSH1_SHAAN_NOV21C

D Read the following passage carefully and answer the question:
XYZ Ltd. funrnished you with the following information:

Budget Actual (in a particular month)

No. of working days 25 27
Production (in units) 20,000 22.000
Fixed overhead (in Rupees) 30,000 31.000

Budgeted overhead rate i= ¥ 1 per unit. In a particular month the actual hours worked were
31.500.

What is the total overhead variance in the given month experienced by the XYZ Ltd?

(1) Rs. 4,000 (Favourable) (2) Ras. 2,000 (Adverse)
(3) Rs. 1.000 (Adverse) (4) Rs. 2,000 (Favourable)

F=AeTiEa = % SATER W UvA I A
XYZ 1. 9 snent freaferfad =9 e & e
a2 andfas (U Arg favm 1)

&M fead & wem 25 27
3T (UFHHl 1) 20,000 22.000
spafrad] Jufrerma (¥98 4) 30,000 31.000

awe 61 M wiad afierE 1 s ufd gie 21 v wre fasm O awafas ww g2 i @en 31500
o)

XYZ a1, 1 wew "1z W Fel IUNera 3w fHa 22

(1)  4.000 593 (3F%Fe) (2) 2,000 ¥F (wfdee)

(3)  1.000%7 (wfdgel) (4) 2,000 %7 (317FH)
[Question ID = 1506][Question Description = Q96_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6021]

2. 2 [Option ID = 6022]

3. 3 [Option ID = 6023]
4. 4 [Option ID = 6024]

Correct Answer :-
e 1 [Option ID = 6021]

Read the following passage carefully and answer the question:
XYZ Ltd. funrnished you with the following information:

Budget Actual (in a particular month)

No. of working days 25 27
Production (in units) 20,000 22.000
Fixed overhead (in Rupees) 30,000 31.000

Budgeted overhead rate iz ¥ 1 per unit. In a particular month the actual hours worked were
31.500.



What is the expenditure variance of XYZ Ltd as on given month?
(1) Rs. 1,000 (Adverse) (2) Ra. 1.500 (Adverse)
(3) Rs=. 2.000 (Favourable) (4) Rs. 1.500 (Favourable)

A Ee T % S TEE W e I

XYZ fea. 3 stoent f=fafad g= yem &6
a9 aEdfas® (v Hig fgem H)

& feawi & gen 25 27
3T (UFF 1) 20,000 22.000
srafrad] Fufrerm (%93 §) 30,000 31.000

Tz 61 M i JfErE 1w 9fd gie 21 v we fasm o awafas w5 92 i gsm 31500
i

ved 41z ° XYZ fa. &1 =@ 3 fFan 27
(1) 1,000 ®93 (ufqee) (2) 1.500 %9 (wfdee)
(3)  2.000 %7 (31FA) (4) 1.500 %7 (3HFA)

[Question ID = 1507][Question Description = Q97_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6025]
2. 2 [Option ID = 6026]
3. 3 [Option ID = 6027]
4. 4 [Option ID = 6028]

Correct Answer :-

e 1 [Option ID = 6025]

Read the following passage carefully and answer the question:

XYZ Ltd. funrnished you with the following information:

Budget Actual (in a particular month)

No. of working days 25 21
Production (in units) 20,000 22.000
Fixed overhead (in Rupees) 30,000 31.000

Budgeted overhead rate 1s ¥ 1 per unit. In a particular month the actual hours worked were
31.500.

From given information in the passage. what iz the volume variance of XYZ Ltd in given

month?
(1) Rs. 5.000 (Favourable) (2) Re. 2,000 (Adverse)
(3) Rs. 1.500 (Favourable) (4) Rs. 1.500 (Adverse)

e TE T YR 9 U W I A

XYZ fea. 4 st9enl fferfiad g=mn ygm & -
qA2  awdfas (v grg fasm 0)

& feadi & wen 25 927
3eq7Ed (Ul °) 20,000 22.000
siafrad] sufrarm (893 §) 30,000 31.000

e &l ME AiEd ufEr@ 1 s ufd giHe 21 s ure favm ° apafas #El g2 @l s 31500
eff|



TR 4 Yed a1 % HAEN Yed Hie 4 XYZ . @1 afem siar fedn 27
(1)  3.000 %% (3HEA) (2) 2000 %74 (wfdepe)
(3)  1.500 %% (3%A) (4) 1,500 %73 (ufdge)

[Question ID = 1508][Question Description = Q98_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6029]

2. 2 [Option ID = 6030]
3. 3 [Option ID = 6031]
4. 4 [Option ID = 6032]

Correct Answer :-
e 1 [Option ID = 6029]

Read the following passage carefully and answer the question:

XYZ Ltd. funrnished you with the following information:

Budget Actual (in a particular month)

No. of working days 25 27
Production (in units) 20,000 22.000
Fixed overhead (in Rupees) 30,000 31.000

Budgeted overhead rate is ¥ 1 per unit. In a particular month the actual hours worked were
31.500.

Find the capacity variance for the month from the information given in the passage.
(1) Rs. 1,000 (Favourable) (2) Rs. 900 (Adverse)

(3) Rs. 1.500 (Favourable) {(4) Rs. 1.000 (Adverse)

B G it Gl 1 e e o s L e e o s A

XYZ fe1. 3 smgent Freaferfiaa g=an em < e

g9 awedfas (U grg fasm o)
14 feasi 61 wen 25

97
3eqTed (Ul °) 20,000 22.000
sqfeadi auftemma (%99 4) 30,000 31.000

a2 <l S HAYHEA YA | #9241 Uid gFHe 21 Uk 418 favm § anefass e gel il w2 31500
o)

T 4 Yed HEA 4 3 918 o 10 sl 3t & gal e

(1) 1,000 %7 (3FA) (2) 900 %73 (wfde)
(3  1.500%7 (37FA) (4) 1,000 %7 (dfdHa)

[Question ID = 1509][Question Description = Q99_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6033]

2. 2 [Option ID = 6034]
3. 3 [Option ID = 6035]
4. 4 [Option ID = 6036]

Correct Answer :-

e 1 [Option ID = 6033]

Read the following passage carefully and answer the question:

Vi e . o L o T Ty TR e -



Ll A LA TUNIrnisned you witn tne IoUdowing Informatiorn.

Budget Actual (in a particular month)

No. of working days 25 27
Production (in units) 20,000 22.000
Fixed overhead (in Rupees) 30,000 31.000

Budgeted overhead rate is ¥ 1 per unit. In a particular month the actual hours worked were
31.500.
Given the information in the passage, what 1s the calendar variance for the month?

(1) Rs. 2,000 (Favourable) (2) Ra. 3.000 (Adverse)
(3) Rs=. 2,400 (Favourable) (4) Rs. 1.000 (Adverse)

B G it Gl 1 e e o s L e e o s A

XYZ fe1. 3 smgent Freaferfiaa g=an em < e
g anafas vk gz favm o)

&4 feadi &1 wen 25 97
3eqTed (Ul °) 20,000 22.000
sqfeadi auftemma (%99 4) 30,000 31.000

a2 <l S HAYHEA YA | #9241 Uid gFHe 21 Uk 418 favm § anefass e gel il w2 31500
o

TR H Ued GEAI F SN Ik HIE % foru Fefet siar faraa 27

(1)  2.000 %9 (%) (2) 3,000 %93 (ufdge)
(3)  2.400 ¥ (3FFH) (4) 1,000 %93 (ufdga)

[Question ID = 1510][Question Description = Q100_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 6037]
2. 2 [Option ID = 6038]
3. 3 [Option ID = 6039]
4. 4 [Option ID = 6040]

Correct Answer :-

e 1 [Option ID = 6037]

Topic:- GP_25NOV_SH1_A

1) Study the table carefully and answer the guestions that follow

Given below is a table that shows the expenditure of a company (in Lakh Pupees) per anmum over the given

Years.
penditure | Salary | Travel | Hospitality | Interest on | Taxes
item Loan

Year
016 330 A0 30 18 20
2017 280 63 23 31 &7
2018 420 i 32 EE) 21
1019 450 75 A0 1 =
2020 480 g4 43 ] 97

difersT o1 FEaud® s Sty o Fafarad w8 & oo S
Fafeiad afere ° we 9uf § U6 S0+ & Uid 99 o0 (g 394 0) &1 fdaeo Ssian T g -



=TT
- #wg | dW | om | i | |
2016 33a Fiv] an 28 Ba
2007 380 65 33 £ a7
2008 421 72 35 33 91
20149 450 Fi=] an 36 94
2020 480 a3 43 39 97

Increase of expenditure from 2019 to 2020 in percentage is:

2019 21 2020 ao @ = 3 Reae yferera giy g8 ?

[Question ID = 1261][Question Description = S2_qSNz_PG_GP18_Q01]
1. 6.9/6.9

[Option ID = 5041]
2. 5.3/5.3

[Option ID = 5042]
3. 5.8/5.8

[Option ID = 5043]
4. 7.2/7.2

[Option ID = 5044]
Correct Answer :-
® 6.9/6.9

[Option ID = 5041]

Study the table carefully and answer the gquestions that follow

Given below is a table that shows the expenditure of a company (in Lakh Bupees) per annum over the given

Yedrs.
penditure | Salary | Travel | Hospitaliby | Interest on | Taxes
item Loan
Year
2016 330 0 30 18 a0
2017 330 63 33 31 a7
2018 420 |72 35 33 91
015 450 75 40 16 =
2020 480 24 43 39 97
AT BT FEUFTYH S e Sty o Fafarad w8 & a9 dfew "></p>
FrafeiEa arfere d wea auf o v U+ & 9id od &g (g wud §) &1 faaeo i § -
=
; - e
wiAd | 3 oEr | affae EaT
a_ni 2T
2016 33a 70 30 28 B0
2017 il 65 33 3 &y
2018 4.2 T2 35 33 91
20149 45{ 75 41 36 94
2020 441l nd 43 39 97




In which year is the Travel expenditure (as a percentage) minimum?
fop21 adf 3 Argp =R1 @1 gferord oolad @1 8 ?

[Question ID = 1262][Question Description = S2_qSNz_PG_GP18_Q02]
1. 2017/2017

[Option ID = 5045]
2. 2018/2018

[Option ID = 5046]
3. 2019/2019

[Option ID = 5047]
4. 2020/2020

[Option ID = 5048]
Correct Answer :-
e 2017/2017

[Option ID = 5045]

3) Study the table carefully and answer the guestions that follow

Given below is a table that shows the expenditure of a company (in Lakh Fupees) per amnum over the given

Years.
penditure | Salary | Travel | Hospitaliby | Interest on | Taxes
item Loan

Year

2016 330 0 30 15 30
2017 380 03 33 31 a7
018 420 ia 32 33 21
2013 450 75 A0 a6 S
2020 480 84 43 39 97

et &1 WEuFTgE® v Fife o Fafataa vt & o dfm
Fraferiad arfere O e auf o v 0=t & 9id od oy (v vud §) &1 faaso S § -

=g
T | AR | e |
2016 331 o 30 28 81
2017 340 65 33 3 L
2008 44 T 5 33 7
20149 450 =] 40 36 94
2020 480 a4 43 39 ¥

What is the average expenditure on Travel and Hospitality during 2016 to 2020?

2016 1 2020 @ Sizret AT 9 IR UR 3TR1d RRI febetoll g311 3 ?

[Question ID = 1263][Question Description = S2_qSNz_PG_GP18_Q03]
1. 110.5/110.5

[Option ID = 5049]
2. 109.4/109.4

[Option ID = 5050]
3. 108.3/108.3

[Option ID = 5051]
4. 108.7/108.7



[Option ID = 5052]

Correct Answer :-
e 110.5/110.5

[Option ID = 5049]

4) Study the table carefully and answer the guestions that follow

Given below is a table that shows the expenditure of a company (in Lakh Pupees) per anmum over the given

Years.
penditure | Salary | Travel | Hospitality | Interest on | Taxes
item Loan
Year
1016 330 Fii] 30 18 280
2017 330 ik 33 31 a7
2018 420 72 =l 33 21
2015 450 75 A0 a6 94
2020 480 84 43 39 o7
difersT o1 FEaud® s Sty o Fafarad w8 & oo S "></p>
Trefeiiad aiferet O Wed auf § U 0+ & Wid T4 odd (e Ul O) &1 fdaeo s g -
=
; 2 U O
wAE | 3 T | afae T
ﬂ'ﬁf ]
2016 33a T0 30 2B B0
2017 380 65 33 3 87
2018 421 72 35 33 91
20149 454 ] a1 36 94
2020 441l A4 43 39 97

In which year is the ratio of Salary to Hospitality maximum?
fopa1 ad 3 Aot a suferer @1 sreura Aaifies a1 3 ?

[Question ID = 1264][Question Description = S2_qSNz_PG_GP18_Q04]
1. 2017/2017

[Option ID = 5053]
2. 2018/2018

[Option ID = 5054]
3. 2019/2019

[Option ID = 5055]
4. 2020/2020

[Option ID = 5056]
Correct Answer :-
e 2017/2017
[Option ID = 5053]

5) The difference between average expenditure on 'Taxes' and average expenditure on ‘'Interest on Loan' is:

Study the table carefully and answer the questions that follow

Given below is a table that shows the expenditure of a company (in Lakh Fupees) per annum over the given
years.

penditure
item

Salary | Trawsl | Hospitality | Interest on | Taxes

Loan




Year Y

2016 330 0 30 18 &0
2017 380 B3 33 31 g7
201 420 s & EE] 71
2019 450 Fi] 40 36 ="
2020 480 24 43 39 o7

AMEDT BT AEUFTIE S T S o Frafafaa v & o dfew
Frafeiad afes § veg auf d v u-i & uid o &g (@rg vud o) &1 fdasor eoifar man § -

=
I Gl e |
2016 331 i 30 28 30
207 380 65 33 n 8/
2008 420 72 35 33 71
2019 450 75 an 36 94
2020 4a0 G 43 39 5

@ UR 3AA =T 31T SBUT D =AIST UR A RRI @I 3idR 3 &

[Question ID = 1265][Question Description = S2_qSNz_PG_GP18_Q05]
1. 54.8/54.8
[Option ID = 5057]
2. 55.6/55.6
[Option ID = 5058]
3. 56.4/56.4

[Option ID = 5059]
4. 57.2/57.2

[Option ID = 5060]

Correct Answer :-
® 54.8/54.8

[Option ID = 5057]

Topic:- GP_25NOV_SH1_B

1) The basic free version of 200M web meeting platform allows an online class to be conducted for how many minutes?
200M qasiifest werewt & af¥re forgles wuiar 3 fepdel firoie sifel crsel aeiRT dcirol &t srepafer 3 ?

[Question ID = 1266][Question Description = S2_qSNz_PG_GP18_Q06]
30 minutes/30 fiere [Option ID = 5061]
40 minutes/40 fieic [Option ID = 5062]
50 minutes/50 fdeie [Option ID = 5063]
60 minutes/60 fiere [Option ID = 5064]

A W N -

Correct Answer :-
e 30 minutes/30 fere [Option ID = 5061]

2) Match List | with List I

List | List Il

Content Area Integrating Technology Application

A. Reading/Language Arts |[l. Software programs to develop basic reading skills

B. Mathematics Il. Simulations to explore distant places and times

C. Science lll. Graphing calculations to illustrate abstract or hard-to-visualize relationships
D. Social Studies IV. Simulations to illustrate complex relationships



Choose the correct answer from the options given below:

It -l ot 3 -1l A Fgafera HifSro :

et -1 et -l
foreRT a=
(R T o rirepor ReMBrBY aragivon)
&g
AT v ot e Rifi we & Rre sifwcder G
Sicigeeei
B. siftra 1. gever Femet 3R lel bl SIAYUT B0l D 1T reeunt
C R Il. 3Eet 31erar DfdoIdr A ATPR BeUoll B2 Ulol drcl Adel DI
) e el @ e STvrerail A SIgtol
D. Jamst
IV. sifee el @Y Fuce B B 3IoIReUTT
31EZRToT H fere

offa fou o1 frpeul 3 3 A I gforw ©
[Question ID = 1267][Question Description = S2_qSNz_PG_GP18_Q07]

A-11,B-1,C-lll, D - IV [Option ID = 5065]
A-1,B-1ll,C-1V, D - Il [Option ID = 5066]
A-1ll,B-1V, C- I, D - | [Option ID = 5067]
A-1V,B-1l,C-1,D - Il [Option ID = 5068]

A WN -

Correct Answer :-
e A-Il,B-1,C-Ill,D- IV [Option ID = 5065]

3) Given below are two statements:

Statement I: You can make the behaviours you teach, more authentic by changing the irrelevant aspects or context of what
you are teaching as often as possible and in as many different ways as possible.

Statement II: To teach behaviour that is authentic, your lesson need not present content in a way in which it will be used
by your learners on assessments, in subsequent grades, and in the world outside your classroom.

In light of the above statements, choose the most appropriate answer from the options given below

oflar or @erot feu a1e 3 ¢

DG - | : MU RAGeRI DI {18101 GRI, IoId> 3RASIA USHH AT UGl DI AT A dcel D2 3R AAT IWva Preol Ul A Yraa @2, U@ Yreorm
oIl ADA 3

@Yol - || : e gasR il YAIOID 31 & Ig1v1 & feru, mud ure &l far avg ol 33 U 3 YFdd Dol DI Ia9AaddI ofdl 3 fSrT WU 3 smud
forgmeft Saraddt 3)3l, 3fiz muhl wei A a1E2 HI gforn #, sdcrol @ e Iu=eT BIJA

IWRAD Bl D el 3, il fSu s fRrevedl 3 A A8} IR DI wRIet HIfSe :
[Question ID = 1268][Question Description = S2_qSNz_PG_GP18_Q08]

1. Both Statement | and Statement Il are correct/aerer | 3z |1 Sleil 31t & [Option ID = 5069]

2. Both Statement | and Statement Il are incorrect/eret | 3iiz || Sloil siera & [Option ID = 5070]

3. Statement | is correct but Statement Il is incorrect/wmeet | 3@t 8, fvoq @ere |l stera @ [Option ID = 5071]
4. Statement | is incorrect but Statement Il is correct/@emt | s/ &, fpoq e Il 3@t 8 [Option ID = 5072]

Correct Answer :-
e Both Statement | and Statement Il are correct/werer | 3iiz 11 Sloii 21& & [Option ID = 5069]

4) Which of these decision traps pertains to thinking and planning activities?
A. NOT keeping records

B. Overconfidence

C. Plunging-in

D. Frame-blindness

E. Poor frame control

Choose the correct answer from the options given below:

forsaiferRaa 3 A1 ®let A forvfa - Sirer framRor 3= forisor fgmaenml A 53 3 ?
A. 3if§rcRa of ol

B. aifer sieafarart

C. Siif3qar 931 wcA IoTell (TfSier sot)



D. © ssiemust

E. forgor ® arforiqur

ofid o s1u fwedl & A A8 IR BT wRI6l HifvrT :

[Question ID = 1269][Question Description = S2_qSNz_PG_GP18_Q09]

. A, Band C only/asaet A, B siiz C [Option ID = 5073]
. B, Cand D only/daer B, C siiz D [Option ID = 5074]
. A, Cand E only/daer A, C siiz E [Option ID = 5075]
. C, D andE only/asaer C, D siiz E [Option ID = 5076]

A W N -

Correct Answer :-
e A, B and C only/adact A, B aiiz C [Option ID = 5073]

5) Arrange these instructional events for delivering the lesson to students in sequential order from the beginning to the
end.

A. Informing the learner of the objectives
B. Eliciting desired behaviour

C. Gaining attention

D. Presenting the content

E. Providing feedback

Choose the correct answer from the options given below

frenf2lil @) ure uGTel @ 1T $o1 3G SIICHD TSI DI YR A 3id D @ I PIu &
A. frgmrell @l 3893l dbI 3y Son

B. qifésd =rasR yra o

C. el 3 itia ool

D. Rrerr avq yzdd ol

E. yfergftc ygror aon

il f3u a1 fraseul 9 A W) IR BT WAl HIRdIE :

[Question ID = 1270][Question Description = S2_qSNz_PG_GP18_Q10]

1. A, D, B, C, E [Option ID = 5077]
2. D, C, B, A, E [Option ID = 5078]
3. C, A, D, B, E [Option ID = 5079]
4. B, C, A, E, D [Option ID = 5080]

Correct Answer :-
e A, D, B, C, E [Option ID = 5077]

6) Sometimes, subjects who know that they are in a control group may work hard to excel against the experimental group.
Such a phenomenon is known as

o3l D3l RIS, Sl A Siloid 3 fop d foriqes g 3 3, YrIIBID WPg D [xg 3 Irapee ol B fe1u dsora o2 AP & 31 ulacen @
foraot U 3 SITGIl SIIeTT 3 &

[Question ID = 1271][Question Description = S2_qSNz_PG_GP18_Q11]

1. Controlled Competition/forifeia gferugt [Option ID = 5081]
2. Motivational Contest/aif8iRe yferifsrar [Option ID = 5082]

3. Compensatory Rivalry/sifergfef gfeigigar [Option ID = 5083]
4. Inspirational Influence/dzvmere gysma [Option ID = 5084]

Correct Answer :-
e Controlled Competition/forifeg gferugt [Option ID = 5081]

7) Analytic Induction is a method of
A. Systematic interpretation of events
B. Generating hypothesis

C. Testing hypothesis

D. Freestyle interpretation

E. Testing null hypothesis only



Choose the correct answer from the options given below:

feradyuTiead 3ol forgoifeiRaa 3 21 fpar &t fafer 3 ?

A. aceisil &l Ioraf¥eda <msn

B. grawcuoid Jf3rda w2l

C. yramcudrsii a1 ulgior e

D. @> caren

E. daa forrmuii grawcassii o1 uiguT well

ofi 3w s1u feeal & A A8 IR BT wRI6l BT :

[Question ID = 1272][Question Description = S2_qSNz_PG_GP18_Q12]

1. A, B and C only/@aa A, B siiz C [Option ID = 5085]
2. B, C and D only/dsaea B, C siiz D [Option ID = 5086]
3. C, DandE only/aqa C, D siiz E [Option ID = 5087]
4. A, B and E only/aact A, B 3liz E [Option ID = 5088]

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 5085]

8) The characteristics of longitudinal studies are:

A. Limited results

B. Do not need heavy investment

C. Provide alternative choices

D. Allow insight into the time order of variables

E. Focuses on individual or institutional developments

Choose the correct answer from the options given below:

oIS e srezrIeil bt forarferRaa fafdrecard 3 :

A. Hifda ufromar

B. s1dl foraor bt smagaaser ot aiedl 3

C. dofeud azur yglol ®dl 3

D. @RI @& 3 @t 3 siaéite &l ot sar d

E. duftoo srerar Aizensid fawrT uz dfea war 3

il feu a1u faeedl 3 A A8 IR D1 TRIet B :

[Question ID = 1273][Question Description = S2_qSNz_PG_GP18_Q13]

1. A, B and C only/daet A, B siiz C [Option ID = 5089]
2. B, Cand D only/aaer B, C stz D [Option ID = 5090]
3. C, D andE only/d@aet C, D siiz E [Option ID = 5091]
4. A, D and E only/d@saet A, D siiz E [Option ID = 5092]

Correct Answer :-
® A, Band C only/aac A, B siiz C [Option ID = 5089]

9) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A research question should have some connection with an existing theory or research.
Reason R: The research question formulated should be either too broad or too narrow.

In light of the above statements, choose the correct answer from the options given below

il St werel 3w s1e 3@ uap sifdraperet (Assertion A) @ %u 3 iz ¢RI 3> ®RYT (Reason R) & w4 3 :
sifdreperst (A) : ofter Yoot o1 fap=il femier Rigia srerar oNer I @ s dlon aifde

oot (R) : Jgag oier yest B sicafies Rizga areran srcaferas 3idiof dlon arfde

SURITE Dol D 3l A, ofld fGu famcal 3 A 73l 3a= &1 wRIel Hifere :

[Question ID = 1274][Question Description = S2_qSNz_PG_GP18_Q14]



. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) il 3 8 3l (R), (A) &I 3t «=n & [Option ID = 5093]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3l (R) glall 3 & waq (R), (A) &I 3t s o1dt & [Option ID = 5094]
. Ais true but R is false/(A) 3= 3, aifdpat (R) sricx 8 [Option ID = 5095]

. Ais false but R is true/(A) sric 3, aftpat (R) s @ [Option ID = 5096]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3fiiz (R) gleil 31 & 3ik (R), (A) &I 38t =z 8 [Option ID = 5093]

10) Match List | with List Il

List | List Il

Artifacts Description

A. History |I. Happens when subjects are given similar pre-tests and post-tests

B. Maturation Il. Subjects’ reactions to experimental conditions

C. Testing I1l. Occurance of various events during a study

D. Demand IV. Biological and psychological characters changing during the course of the study
characteristics

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSie :

oxeht - | et -1

(anffdac)  |(Rrazon)

|. afea diar 3 S gl @1 316! gd - udlgivr Sk Usl - udleiun
e St 3

B. ufruqaar ||l. geifre Refri & gil yeisal Bt yieragr

C. udigror Ill. sreRRIe @ Slrel fafdieor acatisil o1 afed alon

D. o1
ferforeee e
offa f3u s1u fawedl & A wdl Iaz gfere :

A. sfeerRt

IV. 31¢RI6T @ SiRIel Sifaas a FHelidsiform afyq o1 uf¥ader

[Question ID = 1275][Question Description = S2_qSNz_PG_GP18_Q15]

A-1,B-1l,C-1ll,D- IV [Option ID = 5097]
A-11,B-1I, C-1V, D - | [Option ID = 5098]
A-1I,B-1V, C-1,D - Il [Option ID = 5099]
A-1V,B-1,C-1l,D - lll [Option ID = 5100]

A wWw N -

Correct Answer :-
e A-1,B-1l,C-lll, D- IV [Option ID = 5097]

11) Which of the following is considered unethical communication?
forgatferRaa 3 21 fop21 sroifer AYWUT FAT6T SITar 8 ?

[Question ID = 1276][Question Description = S2_qSNz_PG_GP18_Q16]
. Use of alternative source of information/3aen @& dafeuas 3jia @1 geier [Option ID = 5101]
. Not revealing the source of information/3den @ i &t sirerdt of Jair [Option ID = 5102]

1

2

3. Propaganda/gwgar (quemst) [Option ID = 5103]

4. Non-commercial publicity/3tz caraznfas yarz [Option ID = 5104]

Correct Answer :-
e Use of alternative source of information/3aen @ dfeuds 3 o1 gt [Option ID = 5101]

12) Communication means of information.
A. Suppression

B. Exchange

C. Understanding

D. Contextualisation

E. Abstraction

Choose the correct answer from the options given below:

AYYUT oI 31 I BT _____
A. caror

B. faforerr

C. 3=t

D. icsffmur



E. smgfefaur
oifd f&u s1u farapeul 3 A 2t IR DI TR DIfIT
[Question ID = 1277][Question Description = S2_qSNz_PG_GP18_Q17]

. A, Band C only/dsaet A, B siiz C [Option ID = 5105]
. B, Cand D only/daer B, C iz D [Option ID = 5106]
. C,DandE only/aqe C, D siz E [Option ID = 5107]
. A, B and E only/dac A, B siiz E [Option ID = 5108]

AW N -

Correct Answer :-
® A, Band C only/aaer A, B 3iiz C [Option ID = 5105]

13) Which of the following are determinants in transactional communication?
A. Social context

B. Cultural context

C. Relational context

D. Legal context

E. Delayed context

Choose the correct answer from the options given below:

JAxrasifye AYur 3 ferorferRaa 3 A @l A forerfzd 3 ?

A. aEnfores o

B. Az mfdre Ascst

C. Adencas s

D. faferp icst

E. fcifda zicef

ofi o s1u faseal & A A8 IR BT wRI6T BT :

[Question ID = 1278][Question Description = S2_qSNz_PG_GP18_Q18]

. A, B and C only/daet A, B iz C [Option ID = 5109]
. B, Cand D only/asae B, C siiz D [Option ID = 5110]
. C,DandE only/aqe C, D siz E [Option ID = 5111]
. A, Band E only/daet A, B iz E [Option ID = 5112]

A W N -

Correct Answer :-
e A, Band C only/dac A, B siiz C [Option ID = 5109]

14) Given below are two statements:
Statement I: In communication, language ambiguity takes place because of the incorrect use of words.
Statement II: Informal time terms lead to different interpretations.

In light of the above statements, choose the most appropriate answer from the options given below

il 3t erel fdu sre 3 ¢

@l - | : AYyor 3 srer fEerar orecl @ SreTd YRIPT @ BRUI BXddl 3

@ - |l : seiluaf¥e FeRI usl & PRI fifeel IR Bidl 3

SWRITP Pl @ 3MIelld i, ofld 3w s1u Ripedl 3 A A8l IR I a6t HifSte :
[Question ID = 1279][Question Description = S2_qSNz_PG_GP18_Q19]

Both Statement | and Statement Il are correct/eret | 3z |1 Gloif 3t & [Option ID = 5113]

Both Statement | and Statement Il are incorrect/@erwr | iR 1l el sicia & [Option ID = 5114]

Statement | is correct but Statement Il is incorrect/emwr | 31t 8, fpoq et |l sieta & [Option ID = 5115]
Statement | is incorrect but Statement Il is correct/@emwt | s/ &, fbog e Il 3@t 8 [Option ID = 5116]

A w N -

Correct Answer :-
e Both Statement | and Statement Il are correct/werr | 3iiz 11 Gloii 21& & [Option ID = 5113]

15) Match List | with List Il

List | List Il
Concept of Power Communication |Description of feature
A. Legitimate power |. Specialised knowledge




B. Referent power

Il. By virtue of position

C. Reward power

Il. When others feel to be like you

D. Expert power

IV. Control over what others seek

Choose the correct answer from the options given below:

it -l oot 3 -1l A gafera HifSie :

oxeht - | et -1

(orftp AFYuuT <bI Fbeusr) (<1810t 1 farazor)

A. der orftp |. fafdrséiapa sirel

B. g orftp Il. ug 3RFA D BRI

C. gToR 9Iftb Ill. STa g2A¥ 31U SiAT 2loll arsd 3
D. frdrest oifs IV. 521 uz RRiqUI ot ga¥ e ¥

oiiI f¢u aru famedl 3 A A8 IR ot :
[Question ID = 1280][Question Description = S2_qSNz_PG_GP18_Q20]

1. A-1,B-1l, C-1ll, D - IV [Option ID = 5117]
2. A-1Il,B-1IV,C-1,D- Il [Option ID = 5118]
3. A-IV,B-1,C-1l, D - Ill [Option ID = 5119]
4. A-11,B -1, C- 1V, D- | [Option ID = 5120]

Correct Answer :-
® A-I,B-1l,C-IlIl,D-IV[Option ID = 5117]

16) Which number comes next in this sequence?

1, 1.5, 2.5, 4,?

321 9jacH 3 3PIcAl vz Plot 1 dpl ?
1, 1.5, 2.5, 4, ?
[Question ID = 1281][Question Description = S2_qSNz_PG_GP18_Q21]

5/5 [Option ID = 5121]
6.5/6.5 [Option ID = 5122]
5.5/5.5 [Option ID = 5123]
6/6 [Option ID = 5124]

A w N =

Correct Answer :-
e 5/5 [Option ID = 5121]

17) How many minutes is it before 12 noon if 48 minutes ago it was three times as many minutes past 9 AM?

3sfl Qus? B 12 sotol 3 fpaeil Rioic wa 3 Afe 48 RBroic yd 9 s @ a1 subl AF <ilot 9)ol fiele U eft ?
[Question ID = 1282][Question Description = S2_qSNz_PG_GP18_Q22]

1. 33 minutes/33 fdeie [Option ID = 5125]
2. 43 minutes/43 fieic [Option ID = 5126]
3. 40 minutes/40 fieie [Option ID = 5127]
4. 43.5 minutes/43.5 fieie [Option ID = 5128]

Correct Answer :-

® 33 minutes/33 fee [Option ID = 5125]

18) The population of a bacteria culture increases at a rate of 4% per annum. There is an additional increase of 1% of
the population due to some reason. The percentage increase in the population after two years is, therefore

uop Sfiar) e DI SeRizR 4% aiftie ©f ¢ A gdl & il PRUa9I 331 SoRiz 3 1% &I sifeify aiftfe gfig ikl & sra: 2 ad & 51
Sielize 3 gferorda gfs fopaett st ?

[Question ID = 1283][Question Description = S2_qSNz_PG_GP18_Q23]

10/10 [Option ID = 5129]
10.5/10.5 [Option ID = 5130]
10.25/10.25 [Option ID = 5131]
10.75/10.75 [Option ID = 5132]

AW N =

Correct Answer :-
e 10/10 [Option ID = 5129]

19) Given below are two statements:



Statement I: A number is divisible by 12 if the number is divisible by both 3 and 4.
Statement II: A number is divisible by 3, if and only if the sum of all the digits of the number is divisible by 6.

In light of the above statements, choose the correct answer from the options given below

ofi <1 Dot Ru se 3 :

Dol - | : afe v Az=n 3 31 4 <ol A sy 3, dl us i 12 A Rersa 8

@erel - |l : v vz 3 A fasis 3, A sk dad afe 3A e @ wsft sicl @1 AeT 6 A fnirsT 3
SWRIFP Dol D 3Mrelld #, ofld 3w s1e el 3 A A8l Iar @I wrI6t HifSte :

[Question ID = 1284][Question Description = S2_qSNz_PG_GP18_Q24]

Both Statement | and Statement Il are true/@erm | 3z || Sieit 2i=r & [Option ID = 5133]

Both Statement | and Statement Il are false/@ermr | 3iiz || Sleif spicer & [Option ID = 5134]
Statement | is true but Statement Il is false/@emol | A1 8, fbog @eret |l sRicr & [Option ID = 5135]
Statement | is false but Statement Il is true/memwr | sRic &, fboqg @ || 3= & [Option ID = 5136]

A W N -

Correct Answer :-
e Both Statement | and Statement |l are true/@ermr | 3iR 1l Gleil 311 & [Option ID = 5133]

20) Which of the following statement/s is/are correct?

A. Yaman crosses a 600m long road in 5 minutes. His speed is 7.2 km/hr

B. Vinod performs 2/15 of his total journey by train; 9/20 by bus and rest 10 km on cycle. His total journey is 24 km
C. Anita can complete a work in 8 days. She can complete 1/8 fraction of the work in two days

Choose the correct answer from the options given below

forgotferfiaa 3 A wlot A1/A Dot WS 3 /3 :

A. aare1 v 600 ez cidi wrs® @t 5 Biolc & uR o 3 3udl aifer 3 7.2 fovsft / wer

B. el srueil aet =y @1 2 / 15 9111 IenSt A g1 war 3 9/20 sie1 &1 A 3iik 99 10 Resfl Arsfper A 33l @et aren ¢t 24 fopalt 3
C. sroltar v Rl @ 8 ol 3 Q1 oxdl 3 a8 53 DRI D 1 / 8 13331 @1 31 ot 3 g1 @2 Jaoedl 3

SWRITb Dol d A Blol A Dol A 3 ?

[Question ID = 1285][Question Description = S2_qSNz_PG_GP18_Q25]

. Aonly/@ae A [Option ID = 5137]
. B only/@aer B [Option ID = 5138]
. A and B only/daet A siiz B [Option ID = 5139]
. Aand C only/@aet A siiz C [Option ID = 5140]

A w N -

Correct Answer :-

e A only/a@aer A [Option ID = 5137]

21) Consider 'E' proposition as True and ‘'I' as False in a square of opposition of proposition and pick the correct answer from
the options given below

aodra @ faudia o gef 3 'E' adsarar o1 A8l $iiR ' @l srera anfore 3R A8l @e gfore :

[Question ID = 1286][Question Description = S2_qSNz_PG_GP18_Q26]

‘A" is True; ‘A’ is True/'A’' 3t 3; ‘A" 3t & [Option ID = 5141]

'O’ is False; 'E' is False/'O’ swia 3; 'E' 3@t & [Option ID = 5142]

'I'is False; 'E' is True/'l' s/ 8; 'E' &t @ [Option ID = 5143]

‘0" is Undetermined; '0' is Undetermined/'0’ sifoterff¥a 3; ‘0" sifererifsa 3 [Option ID = 5144]

A wWw N =

Correct Answer :-
® 'A'is True; ‘A" is True/'A' 3& &; 'A’ 3t 8 [Option ID = 5141]

22) Pick the correct code.
3Terd / 18l @e gfor ©

[Question ID = 1287][Question Description = S2_qSNz_PG_GP18_Q27]

1. Middle term must be distributed at least once in the premises of a syllogistic argument/cRIRIAIGRT & IARIR AIGR 3 SGUG DA A DH BD dR A9 f[AAR¥d Slol
aifgw [Option ID = 5145]

2. Avalid syllogistic argument cannot have two negative premises/uvd d¢l IRI ARl @ I SBUIEHAD IR A ofal al Add & [Option ID = 5146]

3. With two particular premises in a syllogistic argument, a universal conclusion can be drawn/uw® IR ararRI 3t &I f9 amen? ardreil 3 Ardfee forsat forpren s
Aot 3 [Option ID = 5147]

4. With one negative premise in a syllogistic argument, the conclusion is negative/vd RIRI dra=I 3 Bb BUICAD SIRAIGR] 3 , forsat spulcad alar 8 [Option
ID = 5148]



Correct Answer :-

e Middle term must be distributed at least once in the premises of a syllogistic argument/cIRIAITRT & 3R AGRT 3 SqUG DBl A B TP A1 A A Slor
aifde [Option ID = 5145]

23) Name the fallacy committed in the statements below
"All text books are books intended for careful study.

Some reference books are books intended for careful study.
Therefore, some reference books are text books."

Choose the correct answer from the options given below

P 1Y I oIl JeIu :
Wil uIga Yrad Araeireiigde ierIol @ fere st & o e Yrad Araesiigde ierrol @ fere st &
[Question ID = 1288][Question Description = S2_qSNz_PG_GP18_Q28]

. Existential Fallacy/si¥dcaaras aas giw [Option ID = 5149]

. Undistributed Middle/sifamf¥a g [Option ID = 5150]

. Affirmative conclusion from Negative Premise/ssuicads 32 draer 3 AbRIcAD foreapd [Option ID = 5151]
. Exclusive Premises/ 3o s ara=r [Option ID = 5152]

A wWw N -

Correct Answer :-
e Existential Fallacy/siRaraara® a® g [Option ID = 5149]

24) 'l see a piece of fragrant sandalwood' would correctly represent

' 3 oIl ool D YD b DI Sl § ' b1 AT avier 37

[Question ID = 1289][Question Description = S2_qSNz_PG_GP18_Q29]
1. Samanyalakshna/zmree ctgor [Option ID = 5153]

2. Jnanalakshana/simerctgor [Option ID = 5154]

3. Yogaja/=ermer [Option ID = 5155]

4. Nirvikalpa Pratyaksa/fifdfaseu yergr [Option ID = 5156]

Correct Answer :-
e Samanyalakshna/zmie cgmor [Option ID = 5153]

25) Which of the following is NOT a constituent-member of the Indian syllogistic argument?

forgotferB3ad 3 A Dlol HRARI ARIAIGRI BT D IS ofdl 3 ¢

[Question ID = 1290][Question Description = S2_qSNz_PG_GP18_Q30]
Upanaya/3usrr [Option ID = 5157]

Udaharana/3graur [Option ID = 5158]

Sarhsaya/=wren [Option ID = 5159]

Hetu/3g [Option ID = 5160]

A W N -

Correct Answer :-
e Upanaya/3usrr [Option ID = 5157]

26) Which one of the following is a disadvantage of using proprietary software rather than open source software?

P Y ATTcRR B FeIRT Faifdica arcl ATTeCdRR BT YAIeT ol &l forarferiRaa 3 A o= aifer ah ?

[Question ID = 1291][Question Description = S2_qSNz_PG_GP18_Q31]
1. Proprietary software can only be accessed with a password/zaifira arel 3dfucRR dd Ddel URIEs A ugd al Adbdt 3 [Option ID = 5161]
2. Proprietary software can only be used on proprietary systems/aifdica aret Jifucd=R @l dact Farfded arefl gonferil u2 8t geiter fpenr s A@ar & [Option ID =
5162]
3. Proprietary software is usually more expensive/zaifitca arel AfucdRR AW dl? W 3iférd 316! akd & ? [Option ID = 5163]
4. Proprietary software can only be used with an Internet connection/zaifétca aret JfucdRIz BT Bact $eoic dwold9lol A &l Geiter fdpen s war & [Option ID =
5164]

Correct Answer :-
e Proprietary software can only be accessed with a password/zaifdra arel Afwed=R dd ddcl URIAS A ugd al Addt 3 [Option ID = 5161]

27) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: VisiCalc, the first spreadsheet software application, is a commonly cited example of one of the first killer
applications.

Reason R: VisiCalc helped in bringing PCs into the business realm.



In light of the above statements, choose the correct answer from the options given below

oii<l <1 ool fGu ae 3 : o sifdrpes (Assertion A) @ wu 3 iR ¢RI 3AD BRI (Reason R) @& »u & :

sfdrperet (A) : gert Fsofie JAfredRR siogRiiel faRbIced o a1 diz UR yoe fpeR SioIyRIIsT & WU 3 3crevl e sirar @
@rur (R) : faRmprcs o dizft & cmaif¥e gform & et 3 Jsrian &

JWRITP Pall D el #, offd fBu fasedl 3 A A8 Ia= &1 aRIet Hifste :

[Question ID = 1292][Question Description = S2_qSNz_PG_GP18_Q32]

. Both A and R are true and R is the correct explanation of A/(A) siz (R) il 3 8 3z (R), (A) &t 38 =r=n & [Option ID = 5165]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3iz (R) clall 3 & waq (R), (A) &t 3& e oidt & [Option ID = 5166]
. Ais true but R is false/(A) 3 3, uwesg (R) sricr & [Option ID = 5167]

. Ais false but R is true/(A) sric 3, woq (R) A= 8 [Option ID = 5168]

AW N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) sz (R) gleil 31 & 3iR (R), (A) &I 38t =mezn 3 [Option ID = 5165]

28)

With respect to a music teacher who wishes to use a computer to help him to create training material, match List | with List
Il

List | List Il

Training Material Most Appropriate File Format
A. Printed copies of instructions on how to play his musicll. MP3

B. Sound files of him playing his music 1. DOC

C. Video files of him playing his music 1l. JPEG

D. Images of the instruments he teaches V. AVI

Choose the correct answer from the options given below:

o Jofla {9181 @ Aoc d il YiAreIvr ARG GRIR @0l & 1w PRIc: DI YIeT Bl aisdl & , Il -1 @ 3= -1l 21 Fdifera difste :

Rrett -1 gl

(gforeror ARER) (Fraifir> U WIsd BHic)
A. 021 3refcoll oI Aiga gierri &I Fefia A o2 || MP3

B. Jiofia arger @ gu 3ol eafor wIsel Il. DOC

C. iefia arcet @3 gu Jordbl dif3A wIser Ill. JPEG

D. f3to1 arell @ ds s1eATUel @3 & Joihl BRIV, AVI

oif<l feu are fawedl 3 A A8 3R gfore :
[Question ID = 1293][Question Description = S2_qSNz_PG_GP18_Q33]

A-11,B-1,C-1V,D -1l [Option ID = 5169]
A-1,B-1l,C-1ll,D- IV [Option ID = 5170]
A-11,B-1,C-1V,D-Ill [Option ID = 5171]
A-1l,B-1,C-1ll,D-IV[Option ID = 5172]

A W N -

Correct Answer :-
e A-IlIl,B-1,C-1V,D- Il [Option ID = 5169]

29) Which of the following statements about internal and external computer memory are true?
A. A portable hard drive is an example of internal memory

B. Magnetic tape is used to store backups of data

C. RAM is an internal memory

D. ROM loses its data when the power is turned off

Choose the correct answer from the options given below:

DRI Bl iafe® T aredl AR D Ader I forafciRad 3 A did A Do 781 8 ?
A. di&ge 318 3154 iafed AR DI IS8T 3

B. Jisoife® ¢u &I ST @ b - 33U D fere yAier e strar 3

C. RAM sriafse denst 3

D. & Rsreht @ @2 &) st 3 @ ROM 3er @1 =t sar @

il fou s1u feseul 3 2 I IR BT a6l HIfSIE ©

[Question ID = 1294][Question Description = S2_qSNz_PG_GP18_Q34]



A and B only/dbact A 3iiz B [Option ID = 5173]
A and C only/d@act A siiz C [Option ID = 5174]
C and D only/@saet C siiz D [Option ID = 5175]
B and C only/dact B sfiz C [Option ID = 5176]

A WN -

Correct Answer :-
e A and B only/d@aet A siiz B [Option ID = 5173]

30) Match List | with List Il

List | List Il

Description \Appropriate Technical Term
IA. Numerical ID for each device on the Internet . VOIP

B. Unique ID for a Network Interface Card (NIC) Il. URL

C. Use of the Internet to make phone calls Ill. MAC Address

D. Text used by web browsers to locate a web address on the Internet|V. IP Address

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera dbifSie

et -1 et -1

( ) (SURIT> Awmotidbl
916G)

A. scolc IR Yo fFarsa & fer sidbiar ID I. VOIP

B. olcad $cewA @IS @ fre Iofiw ID 1l. URL

C. Wlol PicT Dol D fo1e $eole DI GRIBT 1ll. MAC o3t

D. $colc a9 V3 Wlisrol @ fore dd YISsR GRI YIb farerr V. IP w3t

oifa feu oru faasedl 3 A 8 3R gforu :
[Question ID = 1295][Question Description = S2_qSNz_PG_GP18_Q35]

A-1l,B-1ll,C-1,D- IV [Option ID = 5177]
A-1V,B-1ll,C-1l, D-1[Option ID = 5178]
A-1,B-1ll,C-1V, D - Il [Option ID = 5179]
A-1V,B-Ill, C-1,D- Il [Option ID = 5180]

A w N =

Correct Answer :-
e A-Il,B-IIl,C-1,D-IV[Option ID = 5177]

31) Identify the correct sequence of BRICS countries in relation to their Sustainable Development Goals Index (from highest
to lowest) as per the Sustainable Development Report (2020)

A. China

B. India

C. South Africa

D. Brazil

E. Russian Federation

Choose the correct answer from the options given below

Aad faert Rl (2020) & SRR Add BRI de Jawic (Icadd A foeras) d Aoget 3 BRICS Soil @ A&} sigapdt & usarer Hifsru :
A. diet

B. sira

C. cféror smjiot

D. gefia

E. =it B339me

il feu sru faeedl 3 A A8 IR @1 TRIet B :

[Question ID = 1296][Question Description = S2_qSNz_PG_GP18_Q36]

1. C>D>E>A>B[Option ID = 5181]
2. E>D>C>A>B|[Option ID = 5182]
3. C>E>B>D>A[Option ID = 5183]
4. A>D>E>C>B [Option ID = 5184]

Correct Answer :-
e C>D>E>A>B[Option ID = 5181]



32) Kigali Amendment to the Montreal Protocol envisages reduction in HFCs consumption by late 2040s to the extent of

Jif¢zrer giciore 3 gu fpormett Jgiteret 3 HFC @ IuRiet 3 2040 @ 91 @ IRl aod foraiferlRaa 3 A fop=r1 e ao ot ool @1 far e
R 3 ?

[Question ID = 1297][Question Description = S2_qSNz_PG_GP18_Q37]
1. 50-55%/50-55% [Option ID = 5185]
2. 65-70%/65-70% [Option ID = 5186]
3. 80-85%/80-85% [Option ID = 5187]
4. 90-95%/90-95% [Option ID = 5188]

Correct Answer :-
® 50-55%/50-55% [Option ID = 5185]

33) According to Red list, the percentage of threatened mammals in the world is about

ciret (33) It D SRR fara 3 gHYRE: (JE3) Feotenf¥l o1 gferord ceme fRoden & ?

[Question ID = 1298][Question Description = S2_qSNz_PG_GP18_Q38]
20%/20% [Option ID = 5189]
25%/25% [Option ID = 5190]
40%/40% [Option ID = 5191]
45%/45% [Option ID = 5192]

A WN -

Correct Answer :-
® 20%/20% [Option ID = 5189]

34) The permissible limit for Arsenic in drinking water, as per Indian Standards [IS:10500] is

Rk dei [1S:10500] @ 3reIR ORI Siet 3 MRIford b sropdia ien fepeofl 3 ?

[Question ID = 1299][Question Description = S2_qSNz_PG_GP18_Q39]
0.05 mg/L/0.05 mg/L [Option ID = 5193]

0.5 mg/L/0.5 mg/L [Option ID = 5194]

1.0 mg/L/1.0 mg/L [Option ID = 5195]

2.0 mg/L/2.0 mg/L [Option ID = 5196]

A W N -

Correct Answer :-
e 0.05 mg/L/0.05 mg/L [Option ID = 5193]

35) From the energy security perspective, which of the following energy sources is considered most secure for India?

Foll IR ufegga A HRd D feru fowafclRaa 3 A v Ja o1 Aaiide JRida e srar 8 ?

[Question ID = 1300][Question Description = S2_qSNz_PG_GP18_Q40]
1. Geothermal/sgardir [Option ID = 5197]

2. Solar/ziz [Option ID = 5198]

3. Wind/uder [Option ID = 5199]

4. Hydro/sier [Option ID = 5200]

Correct Answer :-
e Geothermal/gardtr [Option ID = 5197]

36) Which of the following are 'deemed to be university'?
A. NCERT

B. NIEPA

C. Jamia Hamdard

D. Jamia Millia Islamia

E. T

Choose the correct answer from the options given below:

forraiferRaa 3 A1 Pl - Dol "HAfralyencrr 3 :
A A &

B. offur (wot s £ di w)

C. snfirr sacs

D. suférm frféern seenfrm



E. IT
o f&u s1u farapeul 3 A 2t IR DI R DI
[Question ID = 1301][Question Description = S2_qSNz_PG_GP18_Q41]

A and B only/d>aet A siiz B [Option ID = 5201]
B and C only/dact B sfiz C [Option ID = 5202]
. Cand D only/daet C siiz D [Option ID = 5203]
D and E only/@aet D iz E [Option ID = 5204]

A W N -

Correct Answer :-
® A and B only/@act A siiz B [Option ID = 5201]

37) The NEP-2020 recommends that the duration of the B.Ed. programme will be of
A. One year

B. Two years

C. Three years

D. Four years

E. Five years

Choose the correct answer from the options given below:

Gol § Ul - 2020 b sropeiz 3 foo dl.us. wrRiaga &I smaf?y fowsifeiRaa def :
A. oo ad

B. cr ad

C. dier ad

D. ar ad

E. uig ad

ofid o s1u faseal & A A8 IR BT <RI BT :

[Question ID = 1302][Question Description = S2_qSNz_PG_GP18_Q42]

A, B and C only/d@act A, B siiz C [Option ID = 5205]
A, B and D only/a@aet A, B siiz D [Option ID = 5206]
B, C and D only/a@ae B, C siiz D [Option ID = 5207]
C, D and E only/@ae C, D siiz E [Option ID = 5208]

A W N -

Correct Answer :-
e A, Band C only/dac A, B siiz C [Option ID = 5205]

38) Match List | with List

List | List Il

A. NIEPAIl. Promotion of quality in technical education
B.NAAC [Il. To promote research in social sciences

C. AICTE]lll. Planning and management of education

D. ICSSR [IV. Accreditation of higher education institutions
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A R Hife

et -1 el -1l
A. wol arr$ § di © |. awofichl forgm 3 spurarar

B. uat T © 2t Il. JrarST farsieT 3 oner @) dGrdar Soll
C.oamE M a3 1ll. foremr foriisIal @ yaeror

D. 3m$ 3l vt v 3R IV. 3ca forgm AFersii &1 YeARIer

ofla fRu o1 el 3 A At I gfom :

[Question ID = 1303][Question Description = S2_qSNz_PG_GP18_Q43]
. A-Ill,B-1V,C-Il,D-1[Option ID = 5209]

. A-1V,B-1ll,C-1l,D-1[Option ID = 5210]

1

2

3. A-1I,B-1V,C-1,D- Il [Option ID = 5211]
4. A-1V,B-1l,C-1,D - Il [Option ID = 5212]

Correct Answer :-
e A-Ill,B-1IV,C-Il,D-I[Option ID = 5209]



39) CBCS provides an opportunity for students to choose courses from:
A. Core courses

B. Environmental education

C. Elective courses

D. Computer courses

E. Ability enhancement courses

Choose the correct answer from the options given below:

el ftoer. sruor fenfRil o foraferRad 3 A B golol ®I 1R YgIol ol 3 :
A. 7T (or) orf

B. urifazvfler forem

C. te® @ri

D. wwyer drf

E. Aeuar datiar ot

il feu sru faedl 3 A A8 IR D1 WRIet B :

[Question ID = 1304][Question Description = S2_qSNz_PG_GP18_Q44]

1. A, B and C only/daet A, B siiz C [Option ID = 5213]
2. B, C and D only/dsaa B, C siiz D [Option ID = 5214]
3. C, D and E only/a@aet C, D siiz E [Option ID = 5215]
4. A, Cand E only/@aet A, C siiz E [Option ID = 5216]

Correct Answer :-
e A, Band Conly/@ac A, B siiz C [Option ID = 5213]

40) The key objective of RUSA is to improve:
A. Access

B. Equity

C. Quality

D. Infrastructure

E. Curriculum

Choose the correct answer from the options given below:

1 (RUSA) @1 ggrz 3293 3 forotferlRaa o1 e oo :

A. gga

B. s

C. spradar

D. smenf¥as Jzaen

E. urgererit

il fou o1 frpeul 3 A & IR BT a6l HIfSE ¢

[Question ID = 1305][Question Description = S2_qSNz_PG_GP18_Q45]

1. A, B and C only/daer A, B sfiiz C [Option ID = 5217]
2. B, C and D only/daer B, C iz D [Option ID = 5218]
3. C, DandE only/a@ae C, D siiz E [Option ID = 5219]
4. A, B and E only/adact A, B 3iiz E [Option ID = 5220]

Correct Answer :-
® A, Band C only/aac A, B siiz C [Option ID = 5217]

Topic:- GP_25NOV_SH1_C

1) Read the given passage and answer the questions that follow

The social structure of most developing countries no longer consists of a tiny upper class confronting a very large and mainly
rural lower class, as earlier stereotypes had it. Intermediate strata have grown and diversified until they are, in atleast some
respects (recruitment to position of power, control of major political movements) dominant. In almost all of these countries,



however, the 'middle strata’' remain minorities (sometimes very small minorities) and have not achieved sufficient
homogeneity of characteristics and interests to entitle them to the label of class.

The key differences between them and the middle classes in the past of the countries that are now industrialised or
developed seem to be the following: first, the much greater importance of the role of formal education in giving access to
middle (as well as upper) status; second, the much greater importance of salaried employment, particularly in the public
sector, in relation to self-employment in the professions or in small businesses; third, the presence of the ‘demonstration
effect’ from the high income countries continually tending to stretch consumption aspirations beyond income capacity.
Independent, frugal, entrepreneurially minded middle groups can still be identified, and some of them are coping resiliently
with economic globalisation and other challenges. However, many factors in the situations in which they have found
themselves- technological dependency, the dominance of large-scale enterprises, the bureaucratisation of the rules of the
game- generally restricted them to secondary roles in economic evolution. Their educational aspiration for their children
have been likely to divert most of these into bureaucratic or professional occupations. Moreover, in many cases, they have
belonged to cultural minorities or alien immigrant groups encountering resistance once they become economically
conspicuous.

ofid 3w s1u srErior @ eAwEIgdd ufsu a 3UD daIc gd 91w Yssil & a2 S ©

siferepion farpraghter Soif bt ARNRIEG el 3a usd & Hisag gdidl Bl A ue cafes Bk Ica aof &l oidl 3 il v a3 3R Fzaa: syefior
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The present-day social structure in developing countries is punctuated by

farasaorefict gonl 3 adarer A Fvaon 3 o= oz Sar 3 ?

[Question ID = 1306][Question Description = S2_qSNz_PG_GP18_Q46]
1. Stereotypical classes/>fseag (¥ciRRifefimer) asf [Option ID = 5221]

2. A small group of upper class/3ca asf @1 v 8t 3 [Option ID = 5222]

3. A vast mass of rural class/syefiur asf o1 vep fderer serREIeRI [Option ID = 5223]

4. A growing intermediate stratum/vw gfgaret siemadt a2 [Option ID = 5224]

Correct Answer :-
e Stereotypical classes/¥feag (¢i=0feftwe) asf [Option ID = 5221]

2) Read the given passage and answer the questions that follow

The social structure of most developing countries no longer consists of a tiny upper class confronting a very large and mainly
rural lower class, as earlier stereotypes had it. Intermediate strata have grown and diversified until they are, in atleast some
respects (recruitment to position of power, control of major political movements) dominant. In almost all of these countries,
however, the 'middle strata’ remain minorities (sometimes very small minorities) and have not achieved sufficient
homogeneity of characteristics and interests to entitle them to the label of class.

The key differences between them and the middle classes in the past of the countries that are now industrialised or
developed seem to be the following: first, the much greater importance of the role of formal education in giving access to
middle (as well as upper) status; second, the much greater importance of salaried employment, particularly in the public
sector, in relation to self-employment in the professions or in small businesses; third, the presence of the 'demonstration
effect’ from the high income countries continually tending to stretch consumption aspirations beyond income capacity.
Independent, frugal, entrepreneurially minded middle groups can still be identified, and some of them are coping resiliently
with economic globalisation and other challenges. However, many factors in the situations in which they have found
themselves- technological dependency, the dominance of large-scale enterprises, the bureaucratisation of the rules of the
game- generally restricted them to secondary roles in economic evolution. Their educational aspiration for their children
have been likely to divert most of these into bureaucratic or professional occupations. Moreover, in many cases, they have
belonged to cultural minorities or alien immigrant groups encountering resistance once they become economically
conspicuous.

oflax fou s1u srEri9r Bl eareIgd® ufew a IAD a6 Y 318 Yol @ Ia2 Sifsie :



siferepior ferpragfter Soif Pt ARNRID Heel 3 s d Hisag gdidl Bl aes e Icafes DI Ica gof &l oidl 3 il v a3 3R Fxaa: syfior
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In the industrialised countries, people attained the status of the middle class because of access to

siieefiaya Soii 3, foraiferRaa 3 3 b2 a uga & BRI cisil @ Feras! o1 sef Bier

[Question ID = 1307][Question Description = S2_qSNz_PG_GP18_Q47]
Formal education/siiuenfy® S1er [Option ID = 5225]

Employable economic sectors/forisofier snféfas i [Option ID = 5226]

Areas of self-employment/@IseIR & & [Option ID = 5227]

Special minority tag/fad sicuizIad claet [Option ID = 5228]

A W N -

Correct Answer :-
e Formal education/siuanfs® fergm [Option ID = 5225]

3) Read the given passage and answer the questions that follow

The social structure of most developing countries no longer consists of a tiny upper class confronting a very large and mainly
rural lower class, as earlier stereotypes had it. Intermediate strata have grown and diversified until they are, in atleast some
respects (recruitment to position of power, control of major political movements) dominant. In almost all of these countries,
however, the 'middle strata’ remain minorities (sometimes very small minorities) and have not achieved sufficient
homogeneity of characteristics and interests to entitle them to the label of class.

The key differences between them and the middle classes in the past of the countries that are now industrialised or
developed seem to be the following: first, the much greater importance of the role of formal education in giving access to
middle (as well as upper) status; second, the much greater importance of salaried employment, particularly in the public
sector, in relation to self-employment in the professions or in small businesses; third, the presence of the 'demonstration
effect’ from the high income countries continually tending to stretch consumption aspirations beyond income capacity.
Independent, frugal, entrepreneurially minded middle groups can still be identified, and some of them are coping resiliently
with economic globalisation and other challenges. However, many factors in the situations in which they have found
themselves- technological dependency, the dominance of large-scale enterprises, the bureaucratisation of the rules of the
game- generally restricted them to secondary roles in economic evolution. Their educational aspiration for their children
have been likely to divert most of these into bureaucratic or professional occupations. Moreover, in many cases, they have
belonged to cultural minorities or alien immigrant groups encountering resistance once they become economically
conspicuous.
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What do you understand by ‘demonstration effect’' as mentioned in the passage?

srenior 3 3feciRaa 'ygoletr Yema’ A Mg =i A3 8 ?
[Question ID = 1308][Question Description = S2_qSNz_PG_GP18_Q48]



1. Public sector salaried employment as a goal/3rdsifores &1 @ ddorsiieft Asene ot cigr [Option ID = 5229]

2. Imitation of consumption aspirations of rich countries beyond one's income/ 3ot 3iRT 3 &8 36! TGB2 Adg Sl Dt Jusiler srapigmail &t sipet [Option ID =
5230]

3. Control of power positions/eifes - uei w2 foriqur [Option ID = 5231]

4. Mobility from low income group to high income group/fwet 3IrRI dgE A 3 3IRI AWg a® aiferefierar [Option ID = 5232]

Correct Answer :-
® Public sector salaried employment as a goal/idsifore i @ Adereiisht Asenz @t cgr [Option ID = 5229]

4) Read the given passage and answer the questions that follow

The social structure of most developing countries no longer consists of a tiny upper class confronting a very large and mainly
rural lower class, as earlier stereotypes had it. Intermediate strata have grown and diversified until they are, in atleast some
respects (recruitment to position of power, control of major political movements) dominant. In almost all of these countries,
however, the 'middle strata’' remain minorities (sometimes very small minorities) and have not achieved sufficient
homogeneity of characteristics and interests to entitle them to the label of class.

The key differences between them and the middle classes in the past of the countries that are now industrialised or
developed seem to be the following: first, the much greater importance of the role of formal education in giving access to
middle (as well as upper) status; second, the much greater importance of salaried employment, particularly in the public
sector, in relation to self-employment in the professions or in small businesses; third, the presence of the ‘demonstration
effect’ from the high income countries continually tending to stretch consumption aspirations beyond income capacity.
Independent, frugal, entrepreneurially minded middle groups can still be identified, and some of them are coping resiliently
with economic globalisation and other challenges. However, many factors in the situations in which they have found
themselves- technological dependency, the dominance of large-scale enterprises, the bureaucratisation of the rules of the
game- generally restricted them to secondary roles in economic evolution. Their educational aspiration for their children
have been likely to divert most of these into bureaucratic or professional occupations. Moreover, in many cases, they have
belonged to cultural minorities or alien immigrant groups encountering resistance once they become economically
conspicuous.

ofid 3w a1u srErior @ eAEIgdd uf$u a 3UD dIc B 918 Ysil & 3a= S ©
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Which of the following are the restrictive factors for the development of middle groups?
A. Attitude of independence and frugality

B. Technological dependency

C. Secondary role of bureaucracy

D. Powerful and large business houses

Choose the correct answer from the options given below:

IR Al D [aprRT I forgafeiRaa 3 A diol - Bldl A YfrEerd DR 3 -

A. Yadqar g ffaermar o siftigiy

B. gienfBrbra forsfean

C. clip291dl & situr sifdrat

D. orftporrcil 3z a3 =muif¥e @RIy

il fou s1u fRrepeul 3 A A IR BT w6l HIfSIE ©

[Question ID = 1309][Question Description = S2_qSNz_PG_GP18_Q49]



A and B only/daet A siiz B [Option ID = 5233]
B and C only/dqct B sfiz C [Option ID = 5234]
B and D only/dsaet B siiz D [Option ID = 5235]
C and D only/daet C sfiz D [Option ID = 5236]

A W N -

Correct Answer :-
e A and B only/daet A siiz B [Option ID = 5233]

5) Read the given passage and answer the questions that follow

The social structure of most developing countries no longer consists of a tiny upper class confronting a very large and mainly
rural lower class, as earlier stereotypes had it. Intermediate strata have grown and diversified until they are, in atleast some
respects (recruitment to position of power, control of major political movements) dominant. In almost all of these countries,
however, the 'middle strata’ remain minorities (sometimes very small minorities) and have not achieved sufficient
homogeneity of characteristics and interests to entitle them to the label of class.

The key differences between them and the middle classes in the past of the countries that are now industrialised or
developed seem to be the following: first, the much greater importance of the role of formal education in giving access to
middle (as well as upper) status; second, the much greater importance of salaried employment, particularly in the public
sector, in relation to self-employment in the professions or in small businesses; third, the presence of the ‘demonstration
effect’ from the high income countries continually tending to stretch consumption aspirations beyond income capacity.
Independent, frugal, entrepreneurially minded middle groups can still be identified, and some of them are coping resiliently
with economic globalisation and other challenges. However, many factors in the situations in which they have found
themselves- technological dependency, the dominance of large-scale enterprises, the bureaucratisation of the rules of the
game- generally restricted them to secondary roles in economic evolution. Their educational aspiration for their children
have been likely to divert most of these into bureaucratic or professional occupations. Moreover, in many cases, they have
belonged to cultural minorities or alien immigrant groups encountering resistance once they become economically
conspicuous.
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The passage is focused on

Sreniol forFoiferRaa uR diga 3 :

[Question ID = 1310][Question Description = S2_qSNz_PG_GP18_Q50]

1. The secondary roles of economic evolution/snféfe faerr &t situr gifareere [Option ID = 5237]

2. The rules of bureaucratisation/sii2engdlaur @ forwr [Option ID = 5238]

3. The need for economic globalisation/anffe dediapeur &t smageiesar [Option ID = 5239]

4. Developmental options of the intermediate strata/seradf a2 @ fawrRicas® fdawcu [Option ID = 5240]

Correct Answer :-
e The secondary roles of economic evolution/suféfe ferat i situr gifdrpre [Option ID = 5237]





